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1.

4.

Please check the Test Booklet and ensure that it contains all the questions. If you find any defect in
the Test Booklet or Answer Sheet, please get it replaced immediately.

B DB30S @), @PEe0 500P0DRESSE B HrHESS85. (4, DBS0S? R, BSrEES DBSHE PO
DG 5203,5P oo Aps0d? 6D Jowrd HroEEsB. :

The Test Booklet contains 150 questions. Section A (Indian History) has 30, Section B (Geography)
has 30, Section C (Indian Society) has 30, Section D (Current Affairs) has 30 and Section E (Mental
Ability) has 30 questions. Each question carries 1 mark.

%, D06 150 DEe0SD. VS A (R08anS Sgb) &b 30, 2ES B (ar1D) 68 30, 255 C (m0BanHS
*38) & 30, 25 D (3605 0pE)) & 80, 30605 S E (30006 ID0S) 68 50 5800 &0,
5%, I 1 850, Saranosadse.

The Question Paper is set in English and translated into Telugu language. The English version will
be considered as the authentic version for valuation purpose.

BIDESD RS sarrdavad Beornd el spEr Sabadse. SErmE DB HOD
a0V BOAD PEDBID @Desrdsanm SoS¥se.
The Test Booklet is printed in four (4) Series, viz. @. The Series, | A |or B |or|C|or @

is printed on the right-hand corner of the cover page of the Test Booklet. Mark your Test Booklet
Series or o or @ in Part C on side 1 of the Answer Sheet by darkening the appropriate

circle with Blue/Black Ball point pen.

8, DB eord Sgsest (4) Series wvm [D] sgswedd svposadse. s sgsves
R [B]md [C] md [D] a4, ssao s, st 98 £330 saredd soposadse. SoBays
(%, DS AB0E, S (Series) ™R ™2 ™o @ PR BEFEeS DB 58S S 3§ C
05 9065335500 Bamonosads 85,8508 e /epk end Svaod 20,8 Sorm Mg VDSBS,

Example to fill up the Booklet Series
If your Test Booklet Series is A, please fill as shown below :

® ® © 0

If you have not marked the Test Booklet Series at Part C of side 1 of the Answer Sheet or
marked in a way that it leads to discrepancy in determining the exact Test Booklet Series,
then, in all such cases, your Answer Sheet will be invalidated without any further notice.
No correspondence will be entertained in the matter.

b (@04 (@530 A BEIOAD (Series) DREIS DS BEOS S hEC &5 10905EDsc0ms
wwm@galaagnn PRIBMP BeLRE DL DTS 0 EHOM b,
wduSod ed), SosFived’, HH ddvsSod Sk @b Bavwomd BHPES DD
208Dossexses: (invalidated). HID IHOOD DnB0E SPTDExFE0eD BEHODAXED).
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5.

6.

8'

10.

11.

Each question is followed by 4 answer. choices. Of these, you have to select one correct answer and
mark it on the OMR Answer Sheet by darkening the appropriate circle for the question. If more than
one circle is darkened, the answer will not be valued at all. Use Blue or Black Ball point pen to make
heavy black marks to fill the circle completely. Make no other stain marks. Use of whitener is
prohibited. If used, it will lead to invalidation.

e D5 TPedrD JEPRIEN) BSED. e906506° HOADID awarew HWEW Seasn OMR SSFERS

D8P S Geronosads S,BB50M JOMP HE RODSBRO. 6.5 CHIST, Iy SBSVOD VDI, &
REPERRHED DOEDODEM, F,BS0M QP SO Y VYLD ap/ers erd R0 BN, TESSD.
VSO MHHED DEOTAD. gﬁ&&maﬁ@oﬁm B BSTERD D0 DOVDDLELD.

e.g.: Ifthe answer for Question No. 1 is Answer choice (2), it should be marked as follows :
SR : [DE, BE, Baonogy 1 8 2samen (2) ©9000RD,E, BRRR 61 5od DEEVIP HROSSS :

110/0[®|®@

Use Blue or Black Ball Point Pen only, failing which your OMR Answer Sheet will be invalidated.
Gel pens/pencils are not allowed. It is not required to darken the second copy separately.

PErERS DR, VoDerdE HD 85 Sy wd SvowoS VT IS ES8H S0l OMR JSred
pEsn pe8doswcm. B DIyen/DRE, SDARACBERGELD. BocS b s, Swme dod

SSHESBED.

Please get the signature of the Invigilator affixed in the space provided in the OMR Answer Sheet.
An OMR Answer Sheet without the signature of the Invigilator is liable for invalidation.
OMR 357 HEanéd Saronods gosnd® Hudgnd (Invigilator) cIns, Po85:ADE HOESSR.

56 DOFGER Bo8E50 OMR FSreRs DBS50E} Sseionssd wo $OBoB2UELD.

DO NOT fold, tear, wrinkle, tie, staple, do any rough work or make any stray marks on the OMR
Answer Sheet, otherwise your OMR Answer Sheet will be invalidated.
&a DB S DB 6 SEIPR, DS SOESELSOPA), Aden Aomexso md, Dodeorrd, HS Saneo,

Ao R 32558 Ho OMR S&80ges D0 $08DoDEE.

Using the Whitener/Blade/Eraser/Chalk Powder or any kind of tampering to change the answers on
OMR Answer Sheet will lead to invalidation.
OMR &g DESnst S asaman S0t Dess /B /62,50/8 Doisb 85 D DEFoS OEeren 5o

3 B Barers DD DOSDODE®.

Do not mark answer choices on the Test Booklet. Violation of this will be viewed seriously.
DSPERISDOM PHDBI0P HYOWORD. HDD VBEWoIFS Hors DeriBoswEwD.

Before leaving the examination hall, the candidate should hand over the original OMR Answer Sheet
(top sheet) to the Invigilator and carry the bottom sheet (duplicate) for his/her record.

by 96D 50D IRIVE, oy 85 OMR ISreed DiEasw LOBISD (RN, DBPSD) W5E 6,
2055908 (Invigilator) a9, oo 389 (duplicate) OMR Rarees HEaNS (o DEBS0) 5580
SR0EW DYy ;
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12.

13.

14,

15.

16.

Any type of Calculators, Mathematical/Log Tables, Mobile Phones, Bluetooth instruments or any
other Electronic Devices will not be allowed into the Examination Hall,

9 o505 DNBRs, rdvlerh Bwd, 30BS, ararS sesmes ™ o JwSod dogRs
DOSTINOR DB DD BB AEM.

Candidates should stay in the Examination Hall till expiry of Full Time i.e. 2% Hours. No candidate
shall be allowed to leave the Hall in the middle of the examination under any circumstances.

2 D'e0d® egpes 085 Jro edy S5 (2% otsen) @OGSBR. O eey ™R HbF et o8
HEREOEDH LD DODVED.

If any candidate attempts to use any means to cheat/copy etc., he/she is liable for prosecution and
debarment.

O e vovw IBofed Ancernsd IoH@RE PaLBIHANE D AR 5B
DEPDBE 1D LT,

Rough work may be done on the last ‘page of the Question Booklet only. It should not be done
anywhere else, :

5% 56,5 07 Dol D50 DA sred Basrd. 33 50 Bonows.

As per G.0. Ms. No. 285, Finance (HR-I, Plg & Policy) Dept., Date 06/12/2016, each wrong answer
will be penalized with 1/3™ of the marks prescribed for the question and that would be deducted
from their total marks.

G.O. Ms. No. 235 Pae) (HR-L, Plg & avod) Baogaoos, &6 06/12/2016, 5200 08 8,
a8 DED Bwranods Srmesd 1135 Som BA0BGEO BHOMHES S0OaLo BB Swgo
SrE,e $00d SdVonarcuod.
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SECTION A
Indian History

‘Anda, harmika and chhatri’ are integral parts
of which one of the following Buddhist
monuments ?
(1)  Chaityas

9) .. Viharas
(3)

(2]

Stupas
SRS TSN

Which among the following pillar inscriptions
of Ashoka states that the land revenue rate of
Lumbini was reduced to one-eighth ?
(1) Maski pillar inseription

{ (2 Rummindei pillar inscription})
(3)
(4)

Kalsi pillar inscription
Vaishali pillar inscription

Consider the following statements :

a. Humayun brought famous painters Mir

Sayyid Ali and Abdus Samad from Iran

to Delhi. _

Jahangir's reign is considered as the

‘Golden period of the Mughal painting’.

¢.  During the reign of Jahangir, European
painting was introduced at the Mughal
court by the Danish merchants.

Which of the statements given above is/are
incorrect ? :

(1) Statementsaandb
(2) Statementsbandc
(3) Statement a only
{ (4) Statement conly 1

Which Mauryan officer was the incharge of
Weights and Measures ?

(1) Sulkadhyaksha

(2) Samsthadhyaksha

(8) Pautavadhyaksha

(4) Panyadhyaksha

(4)

10'

DESA
208058 g

- ‘9050, T782% SHBAKW P’ @I (Sod
27 58 e BOS' eodoryio ?
(1) Be&sen
(2) dJ'T°eN
LB drren ) |
@) a58en

2. 808 ®FHY D ToTeS 6 00D

3.

@

4.’

Ty, 2 Braho Ben IANE S0HE

SHOBDA0RD DFYOD ?

1) Srdy N0 TS0

2 60 N0 TR0
3) E&) R0z TR0

4) BFO Q02 TS0

808 1HELSOD HBKBosob :

SOSTAINS Dy STHBS b
JHaNS @d HBA @D DB

a.

20°S 508 AO8 KIS Y.
b. 250 Jos ‘DS  Dowotdoh

T3y H58 Swiio’me HBdeotdatieod.

c. 25rohB TFosS, @R FEHeD
FWAT) sydos orEHANS
20006308 & BV,

2 DS (DELS ©S° O HE5DD ?
1) (D53 a HOAW b

@) (HELSD b HOAM ¢

@)  1D¥S a Sr|edad

DE € TS ad )

D 65 SO SrdEen SHOAN Fodesd
2°¢85e8 S0t dd ? _

(1) DS
2) DT EsE.

[ B) &STO5S8 =
(4)  dersdHss
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5. Romaka Siddhanta written by Varahamihira
deals with :

(1) Chemistry ;

(2) Mathematics

[ 3 Astronomy |
(4) Medicine

6.  Which one of the following books was not
written by Harshavardhana ? :

(1) . Priyadarshika

(2) Ratnavali

(3) Nagananda

[ @ Kadambari ]

7. Which of the following statements is
incorrect with reference to Permanent
Settlement ?

(1) It was introduced by Lord Cornwallis in
Bengal, Bihar and Orissa in 1795.

(2) 1t declared Zamindars as the owners of
the land and they were given hereditary
rights,

(3) It was planned by John Shore.

(4) The amount to be paid by the landlords
was fixed.

8.  Match List I with List II and select the correct
answer using the codes given below the lists :

List1 List I
(Delhi Sultans) (Reforms)
a. Muhammad bin I. Branding of Horses
Tughlaq :
b. Alauddin Khalji II. Token Currency
c. Iltutmish III. Development of
Irrigation
d. Firuz Shah IV. Introducing Silver
Tughlaq Tankas
Codes ;
a b c d

) 1 11 111 v

2) II 1 v I

@ N i

(4) III v I I

(5)

5.

. _

STEFTE SD0DY T dFroso B
DOVOKODIE ?
(1) BJraDS TR0

(2) #Keddo
L B 28300 |
: 4) TAGo

6.

7.

8-

808 B HISGHH (TaHD HHEo
D6?
1D DOHSEE

(2) O&)859
(3) IrSodd
4) sod ||

3635‘065 EEDoSH Ho0500 8od

2

(1) & erd 60D 17956 BorrS,
D6 00w 2,87 (DBIErS.

(2) A 2DOTFDH rDE ahHBsrden
(DEBoD0S HOAM TFEHS g FEeN
2IE08,

(8) 3B S & o0 1D RS ToHdAROO.

(4) 2rsiven TOordid  Swdo
QPAoBE0A.

e 1 HORW 2de II & 258530
50 808 20N TBS H8 o
QPR tH8oSodk :
arde | eIl
(3D HersS) ( DOV Feven)
2. DTS DS SIS I Hore @rod
b. ©@erHdS pd II. &3S 583,
e AN L HSr&de
AN
d. 8rF areaoil§ IV, JesBéros
288%a0
Ndrgraren :
a b c d
() 1 11 III v
2 .1 I v 11
3 Iv 111 1I
(4) o Iv I I
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9. Among Ashtapradhans of Shivaji, the|9 37d ¥ eYITHOS, Fb-3-Tas
Sapi-Naubat was associated with which of the 808  HAE' ©HVOHOBVEOS ?
following tasks ? (1) Q% do(e
(1) Finance Minister (2) P58
(2) Military Commander (3) BFTON B§58)
(8) Foreign Secretary (4) BISrg ol
(4)  Revenue Minister

10. 2 I 2005 23der 1T o 2S$HGIB0
o (800 RS TES 06 eond

10. Match List I with List II and select the correct DIFERR) HO0I0A : .
answe.ar using the codes given bt?low the lists : Dl P
&ff:fiérs) ?};235; Centres) (rabsven) (e?;d)(‘bar_’dl)
a. Kunwar Singh I. Kanpur _ soierey)
\ a. %0556 voh I s87)6
b. Hazrat Mahal II. Delhi b B8 OIS I & é,)
¢. Nana Saheb III. Arrah, Bihar e R S 11 eoor, HieB
d. Bakht Khan IV. Lucknow d. 2P S V. offy '
Codes : QSrprare :
a b c d a b c d
DI 11 7 L 4y 1 11 I v
@ I I v 111 @ I I v I
(3) II v I I 3 I v I I
@ N 1 O I T I
11. The All India Trade Union Congress (AITUC)|11. && 2080 (B& Arddhs soie
was formed in Bombay in 1920. Who presided (AITUC) 192085’ S02rons Froosadod.
overits first sassion ? R NN JrRTRE D @S e
(1) N.M. Joshi EAE ! |
@) Lala Lajpat Rai W) a5do.&™
R Do (2) erer ©HS oo
(4) Subhas Chandra Bose ol i
4) DX Soldd IR
12. Which: Agt introduced " “the ™ Communall,, & oo HEDEDASS IDPOLSEBS
Flodiny stam 2 (H33GZ0s? |
(1) Morley-Minto Reforms (1) S0 b0 Do) OReD
(2)  Montague-Chelmstord Reforms SEAlE = PSTOPST :
(3) Rowlatt Act, 1919 (3 B 380, 1919

(4) Government of India Act, 19356

4) 278 (H2Hed 5 580, 1935
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13.

Consider the following pairs regarding |13,

Carnatic wars :
Wars ' Associated Treaty

I. First Carnatic War Treaty of
il Aix-la-Chapelle
Il. Second Carnatic War : Treaty of
. Yandabo
III. Third Carnatic War : Treaty of Paris

Which of the pairs given above are correctly
matched ? ;

(1) 1andIl
(2) II and III

(3) IandIII

14.

&
¥o)¢38 _Qﬁng'eﬁéo - Qo050 808
BRSO DOMEIOH0E : :
alvgrey :D0GS 2.09,)050
<L 30e5e8 $ov)e88 - 05y
ongo - adyodo
II. Bodss 8oy €38 - ArosE’ 2,:5)080
Ao

IIL Sircss8 Soy88 : 65 253050
s\ inlel -
28 3D BSOS’ DD HOT HBNeron ?

Q) 18I
@ 1808w I

{4) None of the above

(3) I08asw I

The Vaikom Satyagraha which started in

Kerala was associated with : 14.

(1)  Eradication of Child Labour

(2) Temple Entry Movement

15.

(3) Women’s Liberation

(4) Vaishnavite Movement

What was the code name of the Indian armed
forces operation to liberate Goa, Daman and

Diu from Portuguese rule ?

(1) Operation Kiran

2 (-Jperatit_}n \a}'ay i ]

(3) Operati_fjn Rajiv

(4) Operation Pawan

@ I

89S (@SS BED dEyivo B8
- QOVOHODSE ¢

1) Zro 585ve A&

@) SOt B3 6Bmo

15.
Do oBd il TohadE oo
ANG deren THS eIBAS &6 D&

@ So8rem D

@  BRS &S50

ﬁ‘§~, GO HOA SAhries SN

23?7
(1) SI0DS 8665

2) &30S =D

B) ©HBAS oBS

) eHBAS D35S

R A
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16. Match List I with List II and select the correct
answer using the codes given below the lists :
ListI List I
(Governor-General) (Treaty)
a. Warren Hastings 1.  Treaty of Salbai
b. Lord Wellesley 1L - Treaty of Bassein
c. Lord Minto-I IIl. Treaty of Amritsar
d. Lord Hardinge-I IV. Treaty of Lahore
Codes:
a b c d
) 1 11 TR
(2) 1II I v I
3 II Y L. I
4 IV 111 1I I
17. Which of the following is nof a Harappan
site ?
(1) Sutkagendor
(2) Surkotada
(3) Sohgaura
(4) Rakhigarhi
18. Which of the following inscriptions mentions

the names of Vedic Gods Indra, Varuna, Mitra
and Nasatyas ?

(1) Mansehra

(2) Shahbazgarhi

(3) Boghazkoi

(4) Junagarh

16.

D 1 5805 arde 1T o BSHESE0.

5o (808 @S FBS N8 ewd

117.

DAY, ook :

arde 1 ade 1l

1158286 2368) ROR)
a. BSEraohy L. derpon o
b. erd IBY L 2508 50 :
c. B Mo I 59805 506
d. erd 5*Qof-1 V. eud dod
PPN

a b c d
th. 1 II I v
(2) I 1 v i
@ Mm v I II
4 IV 111 IT I

808 78S’ o) INB0 SWE I ?
1) emnSEs ]

@2 Jr8eacs

(3) PO

18.

(2

@) oD

806 F8S’ d TS0 3¢ BISBS BOBY,
5569, i HOKH TRHIL DD

2008 7
1) DI

arares i

@) DE 0 )

4) =8
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19. Which one of the following pairs is not|19. 8§08 z&eS' DA HOT HBFOTL ?

correctly matched ? 1 b - 5 oo

(1) Babur — Battle of Khanwa 2 %8 - 55‘@3{1)‘63 oS00

(2) Akbar ~ Battle of Haldighati (8) JUITrONS - DTS oo

(3) Humayun - Battle of Bilgram 4) 25°0hB - T oo

(4) Jahangir - Battle of Chausa

20. S08& JONOIOD IBS TOIESTOIE0

20. Arrange the following events in the correct " @GOG :

chronological sequence : L B ons

I Cripps Mission I mod-adsS 25080

II.  Gandhi-Irwin Pact L. 8- HOES

IL Chauri Chaura Incident IV, 3 253080

IV. Poona Pact a4y LI I IV

() LI 0L IV (2) I, 1, IV, I

(2 HOL I, IV, 1 3 IV, L 01 u :

3 IV, I, I, II 4 I IV, I, 1

@ IL1V, I, I (21 808 Q WO Lot KSGYE BIES e
21. By which one of the following Acts was the _ BordS oS (15628 aS6Sm

Governor-General of Bengal designated as the QODDOTTE ?

Governor-General of India ? (1) BiHsSe3oh 580, 1773

(1)  Regulating Act of 1;?73 2 @6 &0, 1833

(2) Charter Act of 1833 (8) rde |DaDeds SO, 1858

(8) Government of India Act, 1858 (4) 20 (Dved ¢ 540, 1935

(4) Government of India Act, 1935 -

22.

During India’s colonial period, the Downward
Filtration Theory was related to :

(1) Railways

(2) Education

(8) Irrigation

(4) Poverty alleviation

Q)

;E8T¥0 BoE) Sodoere oo
EoH8 SCHEFeS :
ROVOHODIE :

B sen

DF o0 B8

(2) D&

DS
DS6E QE™OS

(3)
4)
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23.

Who said that “a single shelf of a good
European Library was worth the whole native

literature of India and Arabia” ?

(1) Thomas Babington Macaulay

(2) William Jones

(3) Henry Colebrooke
(4) James Mill
24, Which of the following is not correctly
matched ?
Organisation Person
(1) SevaSadan - Behramji M. Malabari
(2) DevaSamaj - Radhakant Deb
(3) SevaSamiti - Pandit Hriday Nath
Kunzru
(4) Bahujan — Mukundrao Patil
Samaj

25.

Who among the following introduced the Blue
Water Policy ? . _
(1)  Alfonso de Albuquerque

(2) Pedro Alvares Cabral

(3) Francisco de Almeida

(4) Nino da Cunha

Lottery Committee (1817) of the British Rule

(10)

23.

[A]

“2.5 0D CLTrTRANS Bl2d By, VoS
0S8y rESEio OO0 ©BHOITSD
Fnso FOE e S0 AeIIE” @
DS Tarydd ? '

(1) DR 2rdols 5SS
@ 2OHo &Sy
@ W SRS
4) B S
24. 806 ;S DO JOT OB ?
dog) 58
(1) DI ISS - BFro Qo. Heerd
2 B ddrzo - oprsos 55
(B) V> OWB - DO FOLAD FH
oo
4) adved - SPoBTY T3S
RS0
25. 806 &0 X TOb IOV A58
(ST ?
1) &HS' & ®en)s)
2 E wersd srd
(3) @r)) & o8
@ S o
26.

DR e TwE) erexd ed (1817) B

was related to : QOVOHOVIID ?

(1) Eradication of Epidemics (1) @O0LNT LR AT
(2) Revenue Settlement (2) BIdrg 238085

5 Town Planning @) o LEres

(4) Education 4) DS
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27. Who founded the ‘Indian Society of Oriental {27, 2,3'665575005‘ D (DS Eor éo@wo&rbs&)
Art’ to revive ancient art traditions of India ? - ||~ QIHPOOIETE  ‘WoBAHS D eH
(1) Rabindranath Tagore 2,000 e’ DS3B% F 0T E?
1 @ Dot oiird
(2) @mﬁo@.‘:m‘m
@) o05s oD
4 TIoBad oeiird

(2) Abanindranath Tagore
(3) Dwarkanath Tagoré

(4) Debendranath Tagore

28. Who among the following had resigned from
28. 2OOHS TFrerfl SrERS0RD  ABVN®

the Viceroy’s Executive Council protesting 808 TS’ JSB DR D TwE) O3S
o8 & G & )

Jallianwala Bagh Massacre ?

e SAS 008 TSy T ?
: (1) %0858 Trand

(2) Saifuddin Kitchlew | 2) ?\_‘»‘Q@‘s g,:f;s

(8) Satyapal 3 JSg>rS

(4) S.N. Banerjee @ IS B

29. Which of the following pairs is not correctly |99  80a meeres® HA HOT 58T ?
matched ?

: 1) ©dNE - DB H0Hd eimb
(1) Aligarh . —  Sir Syed Ahmed &S50 EARN)
M t Kh ;
G o @ Bk - 58 H60HST
(2) Faraizi —  Haji Shariatullah = Ta TN\ To)
M t -
il @) SArd - onbd oob foher )
(8) Tayuni -~  Rashid Ahmed &E55:900
Movement Gangohi
: - @) o©FBSr - QP hero eims
(4) Ahmadiyya -  Mirza Ghulam &S0
Movement Ahmad

80. 1850 ©5) S 3608 HowoBOD 806
TBS’ HBS (HESED B ?
1 20 14 HSH oy o

30. Which of the following statements is correct
regarding the Lex Loci Act of 1850 ?

(1) It prohibited child marriage below the D nEoD0E.
AR @ 26 D85 résTio eostr O
(2) It extended the prohibition of Sati all QR ANBoNOA.
across British India. : 3) 28 @é 3 X éoescg 3788
(3) It provided the right to inherit ancestrall; R leTaN TSI 38 s%0e LTSI
property to Hindu converts tof FEe sore ol POSVPENY)
Christianity. ©0O0NOR.

(4) It granted the legal recognition to widow I 4) 30 JS0eh JITIOH BEYJEDS
marriages. 80D AN Yob.
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SECTION B YO B
Geography 85‘@‘&’
81. Coasider the Gllbwion kalements:
uaiider the Wollming ke 31. 808 (HELSOM HOKBOLOA :

L According to Continental Drift Theory,
about 150 million years ago, Pangaea,
the super continent, had split into
Laurasia and Gondwanaland.

II. About 65
Godwanaland further broke up to give

million  years ago,

rise to other continents.
Which of the above statements is/are correct ?
(1)
(2)

Statement I only

Statement II only

(3) “Both of them ]

32‘

33.

(4) None of them

Identify the incorrect statement :
(1) At the focus of an earthquake, the
energy is released.

(2) The point on the surface nearest to the

focus is called epicentre,
(3) Epicentre is the first one to experience

the waves.

(4) Epicentre is a point directly below the

focus.

< 3
Granite is a/an :

(1) Extrusive Igneous rock

(2)

Intrusive Igneous rock

(3)
(4)

Mechanically formed Sedimentary rock

Mechanically formed Metamorphic rock

I.  odd0S JF080 (I5°80, Srdd
150 O Joddyore |80,

DOBASF (DAY SFFodso,
B> HOAH Fomsareros e
T AAIFA0H.

I DS 656 OOHS  Sodedyore>
8es0, Romsarerod 2$E pome
JoPNE OB VEr HBoST
DEDFON0D.

2 DEOSOS DBIDD HBSD ?

(1) (DELS I Sredad

(2)  (DEOS I Sredsd

(3) OCod&r )
4)

32. 85D 1DELSD HBoSobk !

(1) 25780578 33, ¥8 Ve @He0d.

(2)  2rE0HTY 0B HAVOSD
GO0S0R &) Do
©HZ0|0 @OoErd).

(3) eBormren I3 evdBo(ddo &
FE&B OV,

(4) ©HB0(0 T Frionards S
ODSS &oB Bo(do.

4

33. .Ln'EeS OJIO

&@ed ©f)3®

@083 eofi) e

AIFO(BEOT DBIBS WSED o
OSrolB50r B )ES Eraross e

(1)
(2)
(3)

(4)
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34. Match the following : 184, 800 &8 J6d'© Yok
List I List IT a1 zdall
(Landform) (Geomorphic agent) (@R sr0) (2000, $0%9 5°580)
a. Delta I. Waves and Currents a. B@er L &domren HB0W
b. Cirque II. Winds (Darasen
c. Cliffs III. Running water s s
) L (HSSroT A
d. Sand Dunes IV. Glaciers d. amsewyen V. T .
Codes : dérpraren :
a b e d a b c d
(1) 1 II III v 1 A | II I v
{2) o1l I v 111 {2) "I 1 v II1
(3) III I v 11 (3) II 1 v II
(4) III v 1 I 4 HI v 1 IT
85. In which of the following layers of the|35. @G®yen @08850 OB (DIFODIYIW,
atmosphere do meteorites burn up when they 808 [SAES D T8 FoOS
enter from the space ? s SFeron ?
(1) Mesosphere (1) D 856820
(2) ermosphere 2)  PD; SI080
(3)  Ionosphere 3 @5rs a0
(4) Exosphere @) 8 8380
36. Match the following on heating and cooling of|gg. e38e0 B0 DO IHVDBEO D
Atmosphere : 808 o3 HON* OB :
List I List Il ardee] e Il
( Proces‘sJ {Met_:hanism ) . (559 (D50)
a. Advection I. Horizontal heating a. &3 DT L §82 2870
b. Convection II. Vertical heating (26 INTo)
c. Insolation ITI. Direct heating b. &R dosrSo 1L g wdSo
d. Conduction IV. Heating the lower ¢ dae0 I 198, &DdS0
layers d. & SIS0 IV. &5 &rden
: S3BEB0
Codes: % i
a b o i a b e 4
Wl inalbialll o R W W
2 1 I v 111 {2} -1l I v 481
(3) III 1 v 11 (3) II 1 v II
@ HPT e T 1 Wt WA i
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87. Consider the following statements : 37. 808 D8O D8NS :
I. Kavaratti is the largest city in L o885 A3oST 368 8§
Lakshadweep Islands. Stido. . - _—
: S II. Sad &8 o 8 HINER
II. Nine Degree Channel separates 1\4.Iln1coy 2SS & ) ;}r@ 90 SHod S
Island of Lakshadweep from Maldives. BN0B.
Which of the above statements is/are correct ? 2 L&’Jgé.)éc.)é‘ DO/ JBSD ?
(1) Statement I only (1) D3OS I Sriedsd
(2) Statement II only (2)  (DELS I Sredd
(3) Both of them (8) OTocdkr
4 None of them @) O
38. Match the following : 88. 808 &e3Q D0 e 08 :
List I List I zde 1 zrdell
(Ocean Bottom (Characteristic (PDa(B2rSe  (DPy &F, £0)
Relief) feature) A=) S) S°ev)
a. Continental I. Presence of canyons a. mocﬁéé:@ L  eorrgrenndoin
Shelf and trenches @0 eorreS BSe als
b. Continental II. Associated with b. 20%SED I (Sosrde
Slope active volcanoes and e @R D sEen SHBO
strong earthquakes. 2ODS SrEore &
¢. Deep Sea Plain III. Presence of massive $0250250 £On
sedimentary o
deposits e 101, 206 ¥
d. Oceanic Deeps IV. Presence of fine- c. ®mE D& 278 058D i
grained sediments TR0 &8
d. SIWDS0SH IV. Hr8) Bengod
Codes : ©rdo B ©STTo GRS
a b c d dSrpraren :
(V) - -1 II III v a b c d
@ 11 IV 11 M 1 11 m v
(3) I I v 11 2 1 I v I
@ m 1Iv ! 11 @ o 1 v I
4
39, Identify the correct arrangement of the i IV A "

following water bodies as per their salinity in

decreasing order :

39. o8 oSBohe 1H5°50, SHeS) EHos
808 8 ISBO  IBS  ©HOED

(1) Lake Van > Dead Sea > Great Salt Lake (’iJQOr;')O_é :
(@) . Désid Ssa > Great SalElike » Leke Van 1) ©6 s > 86 o> 06 o o6 |
(8) Great Salt Lake > Dead Sea > Lake Van 2) BE> OO JY S5 >BE oS

B FS>ETE>TEH>SEoS

4)

Dead Sea > Lake Van > Great Salt Lake

@ BE>TE>S>AS > S5
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40. Which of the following mountains are young [40. S0& TS’ D HE TN SDS S0BS(SP)
fold mountains ? JogEen ?
(1) The Appalachians (1) ©J)BINS)
2) oS
(2) The Aravalis
B AN
(3) The Alps YRR TSR
(4) The Urals -
41. |DBen IHITY 6 rSwen agys
41. Prairies are the temperate grasslands present GO0
in : (1) &0 HookwE o°ared SHOSH
(1) The United States and Mexico e
@  The United States only (2) SO HoAKNE Traren Sriehad
(3) DO OOONE O LD SO0D
(3) The United States and Canada ] 335G
4)  Canada and Alaska @) II@ HOCH BOI
42. The part of the Himalayas between Satluj and | 42. .;‘C)é,.;-af LB 59 She PS &)
Kali rivers is called : SFAOIOIIO 2R, eR) DENTD
(1) Punjab Himalayas (1) Dord SFSre0iren
(2) Kashmir Himalayas @) 595 TIreciren
(8) Himachal Himalayas @ :)‘:n‘;ﬁ‘é TR OOIT D
4) I 2
(4) Kumaon Himalayas i ol
'_ 43. Srd) SN VBB Hod A S6%
43. The Eastern Ghats stretch fmm '. DHBOD Gyom ;
(1) The Mahanadi valley to Seshachalam 1) IS S'oH Hod Fardeo Fodse
hills Yol
(2) Mahendragiri to Seshachalam hills 2) ?gajs;owﬁ@ Qod Fardeo Sode
@) - Mahandeegiri to ho s (3)  SHEOLESNB $08 DeNd 65
(4) The Mahanadi valley to the Nilgiris (d) DI SoH o0& HeAd S8L
44. Which of the following river forms the|44. 808 o8BS O SO HTorrd zoOFeE)
Dhuandhar waterfalls ? B0 ?
(1) The Mahanadi 1) DISA
[ (@ TheNarmada ) I ® 868 )
(3) The Indus (8) o

(4) The Brahmaputra

4) (2T
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45. Pre-monsoon Mango Showers are common in|45. GSDITOH SN0 DT ST 2BEVEW o)
the coastal areas of : FF 85 [romrS Fordomr SEaron :
{ () Karnataka ] LD sgres / )
(2) Tamil Nadu (2) ST
(8) Gujarat (8) Hzod
(4) Andhra Pradesh (4) ©ORHBT
46. In India, very deep black soils are found in: |46 OSB3, Ter SE JQ Foen a8y -
EQDTOW !
(1) North-Western part of the Deccan
Plateau l(l) S8 FToTAS LAY T30Ey &S
(2) Eastern part of the Deccan Plateau a)?‘)z)ia‘cﬁmég} artio
' o
(3) Southern part of the Deccan Plateau @ o5 :3&52;55‘3.}) Y e
: (8)  O8S BT g S e o
(4) South-Eastern part of the Deccan Plateau 4 '
(4) OES BB Tk, esiiyodH grio
47. The most widespread forests in India are : "
47, 2r8SB30S S50¢ DNYSS CchaHen
(1) Tropical Evergreen forests 89
(2) Semi Evergreen forests 1) SRD0GBE Heded TOS BHen
(3) Tropical Deciduous forests @) FEE Heseh O eoch ig en
(4) 'i‘emperate Deciduous forests (3) GADOG BT S wBHen
48. Match the following : @ '0'&%8"& DOGO eaéoc*&i‘) OAYED
- %S{I{'M 48. 800 B HON© Y08 :
e et : eardee] arder Il
a. Vamsadhara I. Nallamala hills (58) (Z3)500)
b. Machkund I1. Nandidurga hills a. Jodrs L JdoHe Soden
¢. Gundlakamma III. Jayapur hills b. Srdsuol IL Sodhq Fotien
it Sea ot el c. HoREN, I 2003°0 Soden
- .ennar . Mudugal hills d ary6 B sk e
Codes: QSrrITeD :
a b c d a b c d
(1) =ik 1I III 1)1 I1 111 v
@ 1 1 v II1 2y 1T 1 v I
(3) IV III 11 I 3) IV I1I II 1
(4 I v I 11 (4) III v I I
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49.

Identify the incorrect statement :

(1) The geographical extent of Laterite soils
in Andhra Pradesh is very limited.

Laterites are formed in semi arid and)
low rainfall regions. _J

(2)

(3) Laterites are less fertile and appear red
and yellowish red. .

(4) Laterites can be used to grow Mango,
Cashewnut orchards.

50. Match the following :
List 1 List IT
(Scheduled Tribe) (State/ Union
Territory)
a. Gaddis I. Sikkim
b. Jarawas II. Jharkhand 2
¢. Santhals III. Andaman and
Nicobar Islands
d. Bhutias IV. Himachal Pradesh
Codes:
a b c d
(1) I II 111 v
2 I 1 v III
3 IV 111 11 1
@ I I e
51. Consider the following statements :

T The monsoons are primary winds.

II. The monsoons are confined only to the
tropical lands lying between 20°N and
20°S.

III. Distribution of rainfall received from the
South-West monsoons
mainly by the relief of the country.

Which of the above statements are correct ?

is governed

(1) TIandIl
(2) IandIIL
(3) IMMandIl

4) I, Iland1ll

(17)

[A]

49. 5857 DS H8oWod :

(1) SoQNBTS' er&ds Joo NS
& e DBeSO.

2) ©F HAY, HOA S$¥0)S SPIS0 &)

FroeS er&BdSen a8 GEaD.

3) O&0s) o%ue W:SJ
SHOOED A HOA DY B
SotHeS" EDDFOW.

4) SrDB, BASrNE SLod DOBEE

B E O GHTIFAOISTD).
50. 808 T BSOS :
ardee] arde Il
(R SrY) (07 sd0! Fo(dsres
(&roe30)
a. B30 L 2§0
b. 2o II. 2§08
c. doazd III. @085 SO
QB Hayen
d. ZrecsrD IV. Srsrsd (HTF
JSrpraren :
a b c d
v I II III v
@. I 1 v__
T 11 1 ]
i | T 1§
51. 808 |H5LI0D HBKSo0

I  BOHISTED T (G0E DadT N,

II.  SedSren 20°N 005w 20°8 8§
&S) GRDOBOErOFTORH IS
OSSR Aoraw.

B0 S IS wmen JHS
BeHSTe Hodh IT) S8
DRBEISD DGO [HZFNS0 T OW.

III.

D (DELSOS’ DO HBIA ?
(1) 15080 I

2 13605 III

@) 11005 III

(4) T, 1805w I
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52. Match the following :
ListI List IT
(Functional (Example)
classification of town)
a. Mining town I.  Jamshedpur
b. Industrial town II. Apkleshwar
¢. Administrative town III. Udhampur
d. Garrison Cantonment IV. Gandhinagar
town
Codes:
a b c d
(1) ¥ II 111 v
@ I I v I
3) IV . I II I
(4) I v I 1I

53. Which of the following oilseed crops is grown

as ‘rabi’ crop only ?

(1)

Groundnut

(2)

Mustard

(3)
(4)

Sunflower

Sesame

In which region in India was tea plantation

started in the first half of the 19*! century ?

(1)

Brahmaputra valley

(2)
3

(4)

Darjeeling region
The Nilgiris

Cardamom hills

52.

53.

[A]
808 e300 H8 0B :
arde | ardee Il
(Ddere (Salres )& (G °08)
IPSCe)
a8 AQoESE Mo I mon&yb
b. O FTWEd0 1. ©oESEs6
¢ JMToSIPwo ML &Solyrd
d. SEe% PAIDHTS IV. modSHE
D&EO
NSFTRTED :
a b c d
1 1 I1 111 v
2 1II I v 111
3 1Iv III 1I I
(4) III IV | I

1808 Sr3foze HotersS B B ot

ST HOBTE ?

(1) S¥SH

(2) eaIen

(3)

4  Ygen

EPBSHEH

195 &2 (Do rEsTEoSTD
D [osod BorH Sweo OHFA)

@rSodord ?

(1)

PoS O oH

(2)
(3) deAten

(4)

ROof oo

aresve Socen
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56.

56.

Match the following on industrial clusters
developed by APIIC Ltd. in Andhra Pradesh :

List I List I
(Location of the (Type of
Industrial Cluster) Industry)

a. Gandrajupallein I Silkand
Chittoor region Garments

b. Kopparthiin Kadapa II. Engineering
region

c. Makavarapalem at III. Aluminium
Visakhapatnam

d. Machilipatnam IV. Jewellery

Codes:

a b c d

(1) 1 II m v

(2) 1 I v I

@) 1Iv I11 II I

(4 I IV I I

In which place in India was the first cement
plant set up in 1904 ?

(1)  Mumbai (Bombay)

(2) Chennai (Madras)

57.

(3) Kolkata (Calcutta)
(4) Pﬁne (Poona)
Which one of the following states is not

connected  with  the  Hazira-Vijaipur-
Jagdishpur (HVJ) gas pipeline ?

(1) Uttar Pradesh
(2) Madhya Pradesh

(3) Gujarat

(4) Maharashtra

{19}

55'

56.

S0 OHBTS’ APIIC OWBE @I BIS
1808 8|S ERBOD O YOG :

ardel eIl
(FOFE 95 (567D &50)
&3)

2. OSFS rosoSD L HeP SO0
oS N2y

b. 535 |rososS’d 1L x020800
5558 |

¢ ITPHe0o S 1L eersdAIoHo
rErdr8o !

d. HOOHe)0 IV. Sifew

Jddrpraren :

a b c d

) I 11 III v

@ n I v 111

@ Iv 11X 11 I

4) III v I II

arBsTiosS Besed Do oS 19046’
D DTS’ Fraosadod ?

(1) SN0 (23702

2 BI) GOEFEW)

57,

(3) FSier (Soia)
4) By

808 o lrod’ 26 FE0-JB0HYB-BHOR
B (HVD) 30 DDBSS
90000t B B ?

1) &S DT

(2) HGUDBT

3) HzoS

@) HItoTIR
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58. Bilaspur is the headquarters of which of the 58. 808 2 BBy &S S DI DS
following Railway zones ? - < Q}Cﬁ)g 3 -
(1) South Eastern D ' ey 0%
(2) East Coastal @) Ery a5
(3) East Central 3) .e'i}"(i),} Socds o
(4) = South East Central m;dﬁ) 20038 )
69, Match the followi ineral f : :
Apdicrs Pjad':s?:rmg TRORE TREEY e 0 59. ?0@,’)@3&’ PVZ S0 8od 3D
List I List IT 100084 :
(Mineral) (Place in erstwhile 2rd)ese ] ard)ese I
districts) (@020) (IS5 a?g‘g}" Pe0)
a. Manganese 1. Forest areas of 2. SrokSHs L 39580 S8
Visakhapatnam and A& .
East Godavari S}J‘S};iﬁ)‘é@é‘ LD
b. Bauxite II. Garividi i
e Vitiaungataih b o5S I dachsitod' 1626
c. Mica III. Jammalamadugu and c. s L 568 [rosdos’D
: ~ Mydukuru in Kadapa 200080 005
region EOETD
d. Limestone IV. Nellore Region d. S)yoron IV. Jeard @roso
Codes : Qdrpraren : '
i b & d a b c d
WA W m W i g L ;I }% 2’1 :
Pl L iV L J @ v I IT I
LG S e @ m v 1 1
4) I v I II
: 60. SOFPHTISY Horge¥ WBTOD 8o
60. Match the following tourist spots of Andhra 3D HBFe 308 :
Pradesh : ; : :
List 1 List I zde] adell
(Beach) (Nearest City! Town) (©e5) (0D StiSol
a. Suryalanka I. Narasapuram D8e0)
b. Manginapudi II. Ongole 2. Ardgoos L S0
¢. Kothapatnam III. Machilipatnam b. HoNSiyd I 2.0ffen
= c. FSHe)0 L 0d5e30
d. Perupalem IV. Bapatla = Cm
d. DoH>Bo IV. axdé
Codes ; dSroraren
a b ¢ d a b c il
(B P o 5 AL ) (1 I 11 HE.. U
@ e i v ( g; ﬁ, L LY il ;
111 11 1
(o = U L J B W II
(4) . 11 v 1 II




.
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SECTION C | PES ©
Indian Society 20805 S @e‘@ es
61. To eradicate child marriages, a unique data 61. 33‘@.)3 ATTOH  AETOoSERE eod)a

62.

driven approach like ALIVA is adopted by :
(1) Rajgarh district of Madhya Pradesh
(2) Wardha district of Maharashtra

(®

Nayagarh district of Odisha |

(4) Warangal district of Telangana

A circular structure used by Zoroastrians for

excarnation or the disposal of human dead |.

bodies through exposure to the natural
elements and scavenger animals such as
vultures is called :

63.

(1) Dakhma 1]
(2) Aparigraha “
(3) Sallekhana

(4) Shenshai

‘Diku And:’ means :

(1) Marriage by exchange in Koya and

Savara tribes
(2) Marriage by capture in Naga tribes
(3) Marriage by probation in Kuki tribe

(4) Marriage by negotiation in Ho tribes

The online portal
Government of India for effective enforcement
of the Child and Adolescent Labour
(Prohibition and Regulahun} Act, 1986 (which
was amended in 2016), is :

(1) SPARC
(2) SRIJAN
(3) YUKTI

(4) PENCIL

developed by the|

 (ALIVA) 308 (D35S Ter enrdd
DR, DSB 850NN S :
) T SHEUHTT S o5 KG 2>
2 DFTRASR P Ber
[ 266 Sornb 2 ]
4) Boorsd’d SSoid 2o°
62. TORNOHD eTdo & ISOFonITO
SYSTSFen  HIHFIEIE TBEI S
Arosen  Hocky Taoden Sod
3028 zodHod 2rdso Tohdo
- §50 GHTIPAOT 9SS DTETR) DD
eV : '
L @O S )
(2) IO
3 By
@ DFTD
63. ‘A% ©0d ®o:
M) Foh 00k 558 B’ DAHANO
o 5o° 200 DIET0
2 TE 8BS oXFSHn ogov 268

PAFV 4 )
@) ¢ 84S 583 (probation) cs',gc:*
. 208 dadro
v F Ho) 8seS Hondoje oo
200 >0 ]
84, 270 HO FSrd Bb (A0 SHBam
DobHodn) o 1986 (AJD  20168°

NS00 W) DdPSosor edHen ToHEBo
850 2rde [H2DS0 2 BSBS FES D
@DBHP TR :

(1) )8y (SPARC)
2) 228 (SRIJAN)
(3) o8 (YUKTI)
r @) »)® (PENCIL)
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65. Consider the following statements :

I.  WP. Scott defined divorce as ‘an|

institutionalised tm‘angement
terminating the marriage relatwnship
and allowing each partner the nght to
remarry’.

II. The first legislation in respect of the
dissolution of marriage in India was
enacted in 1869, and is ‘Parsi Mamage
and Divorce Act’.

.The irresponsible departure from the
home on the part of husband, leaving
~ the family to fend for itself is called as

~ ‘the poor man’s divorce’.

Which of the above given statements are|

correct ?
(1) IandIlonly
@ IIand 1l only

(8) IandIIonly

(4)  All of the above

Ravindra and Seema are husband and wife.

‘Krishna and Madhavi are children of

Ravindra-Seema. Madhavi is married to
Harish and Jyothi
Madhav:-Hansh Then the Consangmneous

Kmshlp is hetween
(1) 'Ravmdra and Seema

(2) Madha\n ‘and Harish

(3) Krishna and Jyothi

(4) Krishna and Harish

for}

is the daughter of|

{22}
|85,

& (808 (HELSO® HORBoS0B:

L &5 ;e dEHhodH D
DoWOGR) By TOHENE HOAw
(DS 2 sDE DI JTETo TS
FELD oSBT dogris
TN’ @9 NG SO .

I 2r8s$850SS darmr 5% Ho2o0dHod
18698 ErSroB0aAS Snde &0
D8O By JaSfen  HOoW
JEEoe B :

D B8 eovTr wEEErSor 208
208 IPNFIED), Henowd) 8%

00 68wy ‘B «.3"5 3)5,5

&‘S‘ 6) (the poor man’s divorce) @

III.

0ETS.

SRS HELSOS’ DD HBID 7

156085 I Sresah
1T 808w M1 .;SrLe:&'::‘o

(1
(2)

(8) 10805 II Sriedad

@

£ 42)

DI

S0l SO DM rogEben. SR
B0  SrGden  ENoB-Nde  Hoew.
IPGD TEDD Do BwHosd B
S48 Srdd-rbae SHIr3. e Y
D0CS L0 SO VS GOENOE ;

(1) Dol SHOAM D%

SIS SO TEH

3

g0 SO0 Hed

@ 590 HB% D
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67,

. .

As per the recommendations of the Sachar
Committee, which among the following
Muslim groups needs additional attention,

similar to that of Hindu OBCs ?
(1) Ajlaf
(2) Arzal
(38) Ashraf
(4) Shaikh and Syed
68. In the lines of Prohibition of Employment as
Manual Scavengers and their Rehabilitation
Act 2013, which of the following Robots can be
used to end India’s manual scavenging ?
(1) Kempa
(2) Vyommitra
(3) Bandicoot
(4) ManavSudh
69. In which of the following cases is it alleged

that the verdict of the Supreme Court of India
diluted the stringent provisions of the
Scheduled Castes and Scheduled Tribes
(Prevention of Atrocities) Act, 1989 ?

K.C. Vasanth Kumar & Another vs
State of Karnataka

(1)

(2) Srish Kumar Choudhury vs State of

Tripura
(33 Om Prakash Mahajan vs State of

Madhya Pradesh

Subhash Kashinath Mahajan vs State o
Maharashtra

4)

J

(23)

67.

[A]

B S DFHIO P30 & (808 D

* SN0 DFEVE arodyr OBCO Srddm

©BS 30 ©5380 &b ?

1) oD

2 ofd

(3 oD

4 D8 D00 HovS

SPESSE A T0s8 AT D0 HBAKH
0 JPITTV WHo 2013 |0, &
Bod 85 d F5EH &HTrAod
TESTE  Sre0gsS Y ToRBol GO

- ARBOBSHY ?

Boar
RERVES

(1)
(2)

(3) 2208508

69.

@)  SrISG
& 800 o8S° O TS rdes MDD
8%) nErS) Ho0 HO NErsS
81 (Erdde JFSYH o, 19895
B85S AOBIOD Jentdd BROBD
sFno50808 ?

(1) 3R, 308 5088 HO0 RS vs
RS 0D STE

B0 5058 T30 vs VS D 18D

50 DTN DRSS vs VS o
DGHDTE

(2)
(3)

t@

QPR TR RS vs O o
SHJo
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70. The Shuddhi Movement to bring back the |70
people who transformed their religion to Islam
and Christianity from Hinduism was started
by :
(1) Brahmo Samaj
(2) Satyashodhak Samaj
(3) Ramakrishna Mission
(4) Arya Samaj
71. India’s first high-tech sports training centre for | 71
Divyangjan, “The Atal Bihari Vajpayee|
Training Centre for Disability Sports’| -
inaugurated on 274 October, 2023 is located at :
(1) Rajkot, Gujarat
(2) Gwalior, Madhya Pradesh
(3) Ahmedabad, Gujarat
(4) Prayagraj, Uttar Pradesh
72. Under whose Chairmanship was a high-level
" committee on socio-economic, health and "
educational status of tribal communities of
India set up by the Prime Minister’s Office in
2013 ?
(1) Dr. Joseph Bara
{2) Dr. Kamal K. Misra
(3) Dr. Hrusikesh Panda
(4) Prof. Virginius Xaxa
73. Who stated that ‘I measure the progress of a

community by the degree of progress which
women have achieved’ ?

(1) Dr. Vina Mazumdar
(2) Pandita Ramabai
(3) Mahatma Gandhi

(4) Dr. B.R. Ambedkar

TOLT DB0 DHOB S HEBR) [0
B0 13RS HS0SE  SrchyBos)
PEos 888 Srodr Hsod’s
ADHNTIFAE DO GO ASH
@rSodord :

(1) |27} NS0

(2)  He$3TUE Hdrz0

@ gD DAS

4) 6§20

25 oS8, 20235 Aarohe  §Ho

DE0DODAS STy BLBSES

owicodd S e Sodo, B wed

DO Ffwow  (AOA Rodd 6
ABDOS 8 8¢5 DB0BRB0B :

(1) oIS, Hhaos

@2 3OHB, SHBUHBS

73,

(3) e rard, Hzo s
4) |DASrhoe, &S HBT

ESTFOS'Q AdBBS ST FrdrBs-esQs,
SO0 SHOKD Dy PBMHOD )
Faw  E0eSD 20188 (HrdHod
SOOON0 A8  @PHIESS o)L
TR0 ?

(1) @3 &9 aroe

(2) @b snS 8. T

(8) rfb Syasa o

@) | DOB SQP0HR 5°)5°)

‘arden FO0DS (D Frond a8 T
Az (IS Foarrdrad ©d 3%
RDE S ?

(1) &80 D Herodsrd

(2) Do Sdraron

(8) DI rod

(4) crié D.e38. ©073¢5,5
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74.

After a landmark Judgement on Triple Talaq in

divorce practised in Muslim society was

recently challenged in the Apex Court of India ?

(1)  Talag-e-Hasan

75.

76.

(2)
3
4)

Talag-i-Tafweez
Talag-e-Ahsan

Lian

Which among the following IT initiatives
by the Ministry of Home Affairs facilitates
dissemination of information about significant
crimes, including Human Traﬂickiné across
the country on real time basis and enables

Interstate co-ordination ?

(1) Investigation Tracking System for

Sexual Offences (ITSSO)

National Database of Sexual Offenders
(NDSO)

(2)

(3)
(4)

Crime Multi Agency Centre (Cri-MAC)

Special Police Unit for Women and
Children (SPUWAC)

Who defined ‘Communalism as the political

identity in a plural sociely undergoing
modernization’ ?

(1)
(2)
3

Prof. Ram Ahuja
Bipin Chandra
Majumdar and Madan

(4) Robert Melson and Howard Wolpe

(25)

4.
2017, which among the following methods of|

75.

76.
assertiveness of a community to maintain its | .

B35S Serfm 2017 HOBOTEEDS
8% ST, N0 JSrs0d’ ©HDB0T
oy IEHO  HPB  HBod adse
rESTE0S’D  wdid)s  TohFrdod
Jaren ToHasod ?

(1) Sers-a-os

2) Serb-a-$HsF
@) &Srs--I)S
4) ODS

BiNor S8 oED Sowrd IO
SVPIS  Fo®  HB0DS AT TR
DDIBEHI @oBOBETRVE HOAD DG
o are Q5 dHS300h0 Tobas Soldd

D0 SgSSTre Holdss TR OB

(DE0DOHDAS IT ;S0 I ?

(1) [0S €800 1Yo DB DRSS
eI )0 (ITSSO)

2 IS Terdv oD NSS
e3088) (NDSO)

3) (55 2% D293 206D (Cri-MAC)

@) RS A HB DS ok VY PS

(SPUWAC)

‘BONEBDEH SVHHG)  IVIBS
JS320eS & HOO0HDH TSRO 2.8

Hoo  BwE)  ozlah Sydsedsd
E85858230” @R DS AB DO ?

(1) (TFI6 o eJver

(2) DHS Ko

(3) HNzrorrd HOAD NN

@) o2f DS DB W S'6)
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71.

The Dowry Prohibition Act, 1961 enacted by

the Government of India came into force from :

(1) 20" May, 1961
(2) 1% June, 1961
(3) 20 June, 1961
(4) 1% July, 1961

78.

Consider the following statements :

I In the 15% Lok Sabha the percentage of
elected women members in Lok Sabha
had crossed 10% of its total strength for
the first time.

II. The 17** Lok Sabha has a higher
percentage of representation of elected
women members than Before and it is
the highest ever since the independence
of India.

The women members elected to the
Legislative Assembly of Andhra Pradesh
in General Elections 2019 was 11:74% of
its total strength.

IIL

The Women’s Reservation Bill, 2023
got the assent of the President on
28'h September, 2023.

Which among the above given statements are
correct ?

(1)
(2)

I, IT and III only
I, IIT and IV only

(3) LIIandIV only

(4) I, I and IV only

(26)

7.

78.

[A]

oS (DS 0  SrFoBONS  S85E)
QR 90, 1961 AHY3%0G edends
NTAR eIl

(1) 20,1961
(2) ™S 1,1961
(3) &7 20,1961
(4) 81,1961

& (808 D5 HBHEBoB0A

L 158 605’ d)BS drer Habsed
TS0 ISSBIOT Jwso  S'E9
J2He w008 10% e30d. :

IL 175 S8 35S d0F0AS Soores
DD (B0 HehoS’ §0T JE0yS
TS0 OO OO rESTTE
IS0oIB50 IS  Sorges b

e HE0Mm God.

IOL 2019 SHBE A0S eo|BNET
TSN Jwso 200, B
N DaDgeN 11-74% ) .

IV. Soare~ 8285308 Dew 2023 JRoB

28, 2023 U 08 8IS0 FoH0R.

2P ADYS VEDoSS’ DD HBSD ?
(1) I II805w III Srlebad
(2 I, I 805 IV Sres D

@) 1,11 58050 IV Sriedsh

(4) 11, II SH0A%0 IV Jrledad
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79.

80.

Under the pressure of groups interested in
linguistic regionalism, the President of the
Constituent Assembly of India has appointed
the Linguistic Provinces Commission to report
on creation of provinces of Andhra,
Karnataka, Kerala and Maharashtra. In
which year was this Commission appointed
and who was it chaired by ?

(1) * 1948, Justice Fazal Ali
(2) 1949, Pattabhi Sitaramayya
(8) 1950, Sardar Vallabhbhai Patel

(4) 1948, Justice S.K. Dhar

Consider the following statements about the
Assam Movement :

I.  The Assam Movement led by All Assam
Students’ Union (AASU) was started in
the year 1983.

II. The objective of the Assam Movement is
to identify the migrant people, protect
and provide constitutional, legislative
and administrative safeguards to the
Bangladeshi Migrants in Assam.

III. The Assam Movement was officially
ended on 15% August, 1989 after
coming to an understanding with the
Government of India which found
official expression in the Memorandum
of Understanding popularly known as
the Assam Accord.

Which of the above given statements is/are
correct ?

(1) TIandIlonly

(2) 1Iand III only

(3) Il only

(4) None of the above

(27)

79.

80.

(]

PR oSS o8 &) S
LHASE, 68 oeriof O edsioey,
eold, $TO% T8¢ HOA DT A
Oare 0N AIOE A5 5@ Oofgds
ATV WA AohawoTd. &
EDASDH D DoI$80eS JAHOTTS
000N T8 DS @8 &S Harotrd ?

(€]
(2)
(3)

1948, 20 =S ©d
1949, HErD T T OO
1950, S8 J02rod HBrd

@)

1948, 200 JN.8. 8

SR I0 G50 HBOD) & (805 (DELSOD
H0feBosodd

I 86 o) TBoL) SrdodS
(AASU) Tesye850S° @0 G50
1983 50553508 (BB Dod.

II. ®)0 &GAON0 By ©F0 Ho
DB HBOIBO HBN oS
ROTET SOITHOH U250l TR
20050  JBFOTIEDS  SE0O®D
©0B0NE0.

ar8e (HDS0 @D JdoS 2.8
OITITIN IV  Sovges, @O0
sl ™ NG TodS ©HTOE
OIMTS  wdYoto  HochdSuS)
SHTS OO0 GOEN0 dHsdsor
15 esi§Q, 19895 S0AV0E.

IIL.

2385 OIS HELSOS DB/DD HBID ?

(1) 10805 I Sorled D
(2) 110805 I Sredad
(3) III Sr(e83d

4) DIV Y
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81.

82.

Consider the following statements regarding
the PM CARES for Children Scheme :

T, The PM CARES for Children Scheme
was launched by the Prime Minister of
India on 11" March, 2020 for children
who have lost their parents due to
COVID-19 pandemic,

II. The PM CARES for Children Scheme
inter-alia provides support to children
through convergent approach, gap
funding for ensuring education, health,
monthly stipend from the age of 14 years
and the child receives a lump sum
amount of ¥ 10 lakhs on attaining the

age of 18 years.

III. The children who have lost their legal
guardian, adoptive parents or. single
adoptive parent due to COVID-19
pandemic are also entitled to benefits

under the scheme.

Which of the above given statements are
incorrect ?

(1) IandIIonly

(2) Iand III only
(3) IIand HI only
(4) None of the above

According to whom ‘the existence of strong
personal attachments and the fact of death,
which of all human events is the most
upsetting and disorganizing to man’s
calculations, are perhaps the main sources of
religious belief ?

(28)

81.

82.

230 863 H6 VRS 580 HBoD & (E0b
(DI HBNBOHOR :

L §8-19 I8 80P
$DSohosn FSHows e o
S8y 11, 20208 orded (DRSO
D0 B6) DB YOS I
rSodordd.

I Do 85) O RS dP%o orsor
VRO D HOBEH 85N SE
QSE0STANOT @OBOBED sHrow,
DS, &850, 14 H0S630% SOHX)
Do& ToTrd PHoAY  HOBKW
18 DS oren JodS DPH ¥
SSoeS’ T 10 ©F e @006,

FA5-19 HIPSB  sO@omr 8
RWEJIEDS DOBE S0, e5edes
SHS) $DGoheny Bor 2,068
B88 BHS)  SASOOD
FSHond Dwen S & H¢¥o od
DB raT 5 e,

2O A0S (DELSOS’ AD SEFWD ?

IIL.

(D IO II Sr(edsd

(2) T80 I Sedd

(3) II S8akw I Sv{ebad

4) DI Y

DODS 3581 dwoTe @8 HOKY
DNER0 BT TS0, SPIHD K%
©d50¢ S0 SONOT HOAN eSO
BI)  AID DODESEN, DIVFT e
ATITVE DTS SSHew D 3
DTS ? :

(1)  Talcott Parsons (1) Erermpés 368

(2) Emile Durkheim (2 WS B8

(3) Bronislaw Malinowski @) ([ SWTS SrOS :JQZ,
@) DS & argS'and

(4) Simone de Beauvoir



GS/2G/200 (29) Al
83. Which of the following Constitutional|gs, B ;.’)65_6' ede Sry o 28O0 (Bo)
Amendments provided rights for making JrersosS IDISTFEY) Shotdo HBkD
pl‘OViBiOﬂS in favour of the SCs and STs for gOLCSO 805D U‘t§‘ L‘ﬁﬁ)és mogo
relaxation of qualifylng marks in any]  nan$ DachosS' 6aBsAS €0 )
examination (or) lowering the standards of 5
: A DOAD IPOH ONETFOOMT A0
evaluation and for reservation in the matter of i ¥
promotions to the public services of the Centre EraroBoBad8 (806 o Trarsoli dSSe
and the State ? :3"50?,-:\'1) @0&5@05 ?
(1) 80 Constitutional Amendment (1) 80& oramgofi D50
(2) 82" Constitutional Amendment (2) 828 Urarpol D508
(3) 89" Constitutional Amendment (3) 89 Trargoli D
(4) 93" Constitutional Amendment (4)  98% orargof “'_")‘;5699
84. OI08 200K (DdWiBen) (DIraSo
. Identify the i hich th i
o P i : Sidntiy With Mt e Dhiioey TErdyer, Ho020800 Sofods JIsso
Cabinet of India has approved signing of & o o i e s et
Memorandum of Understgnding (MoU) for 4 e BEPO0, 80 (it
co-operation in disability sector that benefits dodso THaIE rds Bl HodSgo
the persons with disabilities (PwDs) ? 3rO0DS BF), HEotod ?
(1)  South Africa 1 SEemos
(2) Germany 2 280
(3) Japan 3 =S
(4) Braz @ BaS
85. & 1808 o8S $EES'D Sourad HBASH
85, A consensual and informal relationship

practised in accordance to matrilineal laws of

TODO® NPP Sy SO 1H5°E0

Kerala that prevailed among Namboothiris HORD80 ©@0ASB0SHAS S lele My
and Nairs is known as > TS0 0200 DO 7
(1) Sambandham (1)  QOoOKO
(2) Pakulam Pathiravum ) 200 HBCO
(3) Pranchiyettan (3) (DODTDYRS
(4) A8y B0

(4) Udakapoorvam
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86.

Recently the Delhi High Court has upheld the
constitutional validity of a provision of the
Hindu Marriage Act which ‘prohibits marriage
between people who are related to each other
through ancestors from their parent’s side
unless their customs allow them to do so’. The
said provision was mentioned in which Section
of the Hindu Marriage Act ?

(1) Section 4(a)

(2) Section 5(v)

(3) Section 12(1)(a)

(4) Section 13(ii)

87. A Centrally sponsored scheme that aims to
achieve the objectives of child protection,
happy childhood and development under the
Sustainable Development Goals (SDGs) is :

(1) Mission Laalana

(2) Mission Bala Vihar

(3) Mission Balsamrudhi

(4) Mission Vatsalya

Which of the following was the custom

practised during the ancient period that
allows married women to cohabit with a
designated male for the sole purpose of
procreating a child if her husband was
impotent or had died ?

(1) Apastamba

(2) Sikata Nivavari

(3) Pratigya

(4) Niyoga

(30)

%.

(a]

agdse seos’ &80 EY Sodr dadr
OPO g, ool TeNerdnsd
J0BoN0od rodr JdTT  IWoSD
QOGS (D580 ‘@DSoIhe I Hod
J850 oo 288FES DoOBO &)
S5O $HES T°0 SO BHHAW $D)
DFITNV) AR, Jror DI
SHPOSV D VESS & dodS
DVV0B08 ?

(1) DES 4a)

(2) &S 5(v)

87.

88.

(3) ES 12(1Xa)

4) DES 18(ii)

VS @I ©F e (SDG ev) §od e

888,  NOBAIEDS w0  HOID
@G OFTIOD JhHoddo ofsjomr
DEPFI) S0l |;TrB3es HGHEO

(1) DA® O

(2) DA e IO

3) AN OISV

4) AN TFS)He8

NTSS F00S" FES' HoBIBA DD
B P8 BANA0 SOD) eNS0E drared
L‘é}cn OGN DSoHen, OO0
Forrod JBE G508 JoHWOBDAS

DEODES DB dS0 BAOTRSE
@NNBOT VG0 IO ?

(1) edQ0

(2) DI >0

(3) (D3P

4) Ay
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India, a minister in charge of tribal welfare
who may in addition be in charge of the
Scheduled Castes and backward classes is
compulsory for which of the following states ?

: Madhya Pradesh

II.  Punjab

III. Uttar Pradesh
IV. Jharkhand

V. Odisha

(1) I,ITand IV only

(2) II III and IV only

(8) I, IVandVonly

(4) IL III and V only

The comment ‘Devotion cannot be subjected to
gender discrimination’ was made by the Apex
Court in its judgement in the Sabarimala Case
and permitted women of all age groups into
the Sabarimala temple. Who among the
following middle aged women first entered the
Sabarimala temple after the Supreme Court
judgement ?

(1) Bindu Ammini and Jyothi Nair

(2) Kanaka Durga and Aadhishree

(3) Bindu Ammini and Kanaka Durga

(4) Kanaka Durga and Aishwarya Melton

89. As per Article 164(1) of the Constitution of |gq

28 orarsolioSR ef5S 164(1) 95750,
SIS  Soeren  HOAN  IDEAS

SEHSHOK OBIOMT 25 Sorod ABBS

HDoEH TR HoE@ 808 2 oS
508 ?

| A TS P Ta L ]
I Doz

M. &6 (HBT
Iv. >Qob

V. 4%

(1) 1,11 85w IV Sessd

@) 11, [T 508050 IV S sH

3) ILIVSHoain V Sresd

(4) I, III 08050 V Sredsd

258 Ootf DBEH HOSETrAD’ & 800
TS Do TP S5 a)S Faridod
®) Sohye Ho éaﬁréoéa F8H©
so0HOSE  ©HHBON0H.  WNOTE

%) $075e5 $220:00 8000058 Inderr

(DBBODS S SODKNZBS |V DSS ?
Dot WD SHOCAH &S T7oHb
E58 08 $005 BHT

(6
(2)

@) Do @A HBAK 58 oG

(4) &35 Y 0D nF 05 RS
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SECTION D
Current Affairs
91, Consider the following statements regarding

the 9*® Asian Winter Games :

1. The 9% Asian Winter Games 2025 are
set to be held at Beijing, China.

II. The official slogan of the 9% Asian
Winter Games 2025 is ‘Dream of Winter,
Love Among Asia’.

III. The names of the two tiger mascots of
the 9% Asian Winter Games 2025 are
Yingying and Nini.

IV. On January 11%, 2024 the emblem
of the 9" Asian Winter Games 2025
‘Breakthrough’ was officially announced.

Which of the given above statements are

correct ?

(1) IandIIonly
(2) I andIIIonly
(3) IandIVonly

(4) 1I and IV only

Which country was certified as Malaria-free
by the World Health Organization (WHO) in
2024 ?

(1) Morocco

(2) Cabo Verde

(3) United Arab Emirates

(4) Mauritius

(32)

91.

PES D
58085 b,

98 edosr FErsey) Edenss Ho20B0D
&2 (808 |DZLION HBMeSo50d !

L 95 edosr Resod |@den 2025
B’ HBoRS DB sarotsachEon.

IL 95 easr Fersrersy (§de 2025 g,
©O5°0% TG0 16 &9 Jobs, ©S

@drofi edAy”’ (Dream of Winter,

Love Among Asia).

L 95 esdasr Fersredy (§de 2025 Gk
Boch NG 0B D anofzol
B0 .

IV. 2850 11, 202465 955 &R0 F&serd)
e 2025 D)0 1Z38|e8
(Breakthrough) e&s* 850
(H5S802808.

S BDS (DEOLSOS’ A HBXD ?
(1)  I080% I Sresad

2) I 5H0as I Sredsh

@ 1580w 1V S

(4) I 0% IV Sresh

92,

202465 (H35055 es8g H0 (WHO) S5800%r

336 (LHNEBE HED) 2 BIo BN ?
(1 Do

2 5539

(3) ANTDE 98B JTE)
4) SrOAR0
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93.

94,

Who among the following eminent
personalities have been conferred with the
Padma Shri Award 2024 for their
contributions and achievements in the field of
Arts ?

1. Drona Bhuyan

II. Ghulam Nabi Dar

III. Rajaram Jain

IV. Dasari Kondappa

V.  Dukhu Majhi

(1) I, IIandIV only

(2) 1,111and 1V only
(3) 1II,IV and V only
(4) All of the above

According to INTERPOL, which State police
had registered one of the first cases in India of
human trafficking committed to force victims

to commit cyber fraud ?
(1) Maharashtra
(2) Uttar Pradesh
{ @ Telangana )
(4) Bihar
95. Match the following List I with List II with
regard to Arjuna Awards 2023, :
ListI List 11
(Name ) (Sports
Discipline)
a. Ritu Negi I.  Golf
b. Sheetal Devi II. Kabaddi
¢. Naorem Roshibina III. Squash
Devi
d. Diksha Dagar . IV. Para-Archery
e. Harinder Pal Singh V. Wushu
Sandhu ;
Codes :
a b c d e
(1) I v v I 11
@ 1II v v III
3 II v v oL I
. @ O BV RESTTE

{33)
98.

(2]

& 1808 D0y SiHes’ 568 sersorod’
0 308 HOAW DBATOH H5 T

202409 | DT80 TFE ?
I | &% HoSrS

. Hero &D b
. o= 20

IV. o008 §08))

V. oz Srdy

(D I I SH80% IV Sr(edad

(2)
(3)

I, 11T 08050 IV Sro(edad
I1, IV 8050 V S eed

(4) DI
94. INTERPOL (d5°60, b Jarod
OSRNOD DOS0S0 TOHFRE FOYABS
BSOS TNV IR o P> -V I To T TaTo 1A
288830 I o » TR Fden
SJoeeh) TS ?
(1) ST R
(2 &S NTF
 ® sSoors )
@ D0
95, oS oard) 20238 So20H00 80
D 1 2D [IS D0 0b
arderl ade 11
(D) (8B (59398 e)
a. B TH L #85)
b. 965 8D - IL 2§
¢. B FaD B ML Iy 5
d. &g oiib IV. ror-e8)0
e. 36oRB IS ol V. &
VOGN
Sdrgraren :
a b ' d e
(1) I v v 1 11
(2) 1 A" IV I I
(3 1 v v I 1
lw o0 v v L:. 38
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96.

Which among the following is the initiative by
the Government of Karnataka in collaboration
with the All India Game Developers Forum
(AIGDF) with special emphasis on gaming and
social media ? g

(1) _Digital Detox ) |

97.

(2)
(3)
(4)

Digital One Stop
Digital Smart
Digital Bengaluru One

What is the theme of ‘International Day of
Education 2024’ ?

(1) Learning for people, planet, prosperity

and peace

(2) To invest in people, prioritize education

(C ® Learning for lasting peace )|

(4) Education : A key driver for inclusion
and empowerment

98, Consider the following statements :

I. India’s first National Highway
steel slag road section is on NH-66
Mumbai-Goa National Highway,

II.  Steel slag technology was developed
by the Indian Green Building Council
(IGBC) and Central Road Research
Institute (CRRI). '

III. JSW Steel, under the IGBC-CRRI
technological guidance, has constructed
a 1 km long four lane steel slag road
section on NH-66 Mumbai-Goa National
Highway.

Which of the above given statements is/are

correct ? !

(@O Tonly )
(2) Ilonly
(3) IandIIonly

(4) II and III only

(34)

96‘

97.

98.

Aol By FAS DA
D8BsE | TS eS5-0805¢ B
BIOHB) SO (AIGDF) JSFsdos
Eomel (Dghesso & (80D o8BS DO
800D ?

III.

1) o200 Gersy )

2) ABHS SSFD

(3) A2 378

4 &2 Tolgrd S8

‘@OSTROD Ty OSB)S0 20247 By

FDEGS0 (theme) DES ? ;

(1) B6)06 H6 HHS, TS, 1908
©08 DD

2 &ar 230 as HHS, |Hoiroess
AT WP

(3) BB)0b HB6 erNoh DR

(4) ABEIS : D § (BSE H6 20ETAS
@08 20DNB085

& (808 (DELSON HOKBoIOB :

L rdsBi 3o Jasd d 96
h 86 NH-66 snoz-far zraad
SO V8090808,

I S T Bsyedd 208005 BS
AO0R )5 (IGBC) 58050 oS
86 638) ad)ryS (CRRI
©DS)P TFow.

IGBC-CRRI 08a§ Sr$edss 08’
JSW S, NH-66 Swo3-Ffar 28a%H
EroroD 1 8. Trentd B8 QS Tk
T D A80008.

DS 2D (HEOIOS” IO/D DTS ?

1) 13D )

(2)  II&Sre5sH
(3) 10805 II S
(4) IIH80% I Sredsd
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99. ‘The Husavik Expl.bratiou Muséum’ seen in

the news recently, belongs to which country? |

1)
(2)
(3)

Poland
Bulgaria
Saint Lucia

(4) Iceland =)

100.

Consider the following statements about

MILAN 2024 : St

I.  MILAN 2024 is the 12 edition of
Multilateral Naval Exercise being held
from 19th to 27" February, 2024 under
the aegis of Southern Naval Command.

II. The Harbour phase of MILAN 2024 is

from 19%" to 25t February, 2024 and is|

aimed towards building upon the
experience of multilateral forces
operating together at sea.

The Sea phase of MILAN 2024 is being
conducted from 22°4 to 27! February,

2024 and provides a platform for
participating navies to discuss maritime

IIL.

subjects of common interest and share |

solutions. .

Which aﬁiong the above given statements are :

correct ?
(1)
(2)
(3)

I and II only
II and III only
I,IIand III

{ @

None of the above

1

101.

Which country has officially declared the
‘Snow Leopard’ as its national symbol,
underscoring its commitment to conservation
and ecological balance ?

(1) Kazakhstan

(2) Mozambique

S

(3) Kyrgyzstan

(4) Democratic Republic of the t‘ongo

(35)

‘
99,

28850 S EDN®) ‘B JToDE )
FVAS SrsBaHo’ @ B8 oA 7
(1) ferod
@) %805
(3) ROV AT
- @_oFos )

100. MILAN 2024 H00Q (508 (DELS©D

HoKBotod :

I. MILAN 2024 38 &8n Jso¢
E5r0B @ds6508° 2024 DO 19
508 27 365 DEEroSHESIS) D
oSS T3S I8P (Multilateral
Naval Exercise) 3308} 125 d&AS.

MILAN 2024 &3w&; 566 &% 2024
DDSD 19 OB 25 S5 SFOLNOH
DO HIBoS' OB HATD
a3vrss LN NPT OD
S0THESH0 ©F SO DEPE0B.

L MILAN 2024 3% 3o &9
2024 DSG 22 Hod 27 SO
DELETOBDHE0O DO 8D &)
JDIWVS  doTroD  B8YoNERS
L005)  DOXPT O DONEITE
FOT TeIrod 65D ©oHNOB.

285 2D (DEOSOS’ DD HBID ?
(1) 1805 I Sred

(2) 110805 ITI Sr(essh

(8) I, 1150805 III

4) ?gé&: 5%

101.

HOBE e OO DTG deersed HE

s ore3Sandr ‘DHoth DS &

S5 SaH AFyor O Bio edsdior
(D830 ?

1) S238Tx
2) Borods

3 89aS

(4) '6‘3‘3an'655 Om" § e & SR
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102.

103.

The Global Biofuel Alliance (GBA)_ was
launched on 9% September, 2023 during
the G20 Summit. Which among the following
non-G20 countries are supporting the Global

Biofuel Alliance (GBA) ?

I. Paraguay _

II.  Sri Lanka

HI: Guyana
Seychelles

V. Chile

(1) LILILIVandV
(2)

3)

L IIL, IV, V and VI
I, 111, IV, V and VI

(4) I,II III, IV and VI

The Government of Gujarat is set to launch
the country’s first Submarine tourism in
collaboration with :

(D
(2)

Huntington Ingalls Industries
Daewoo . Shipbuilding and Marine

Engineering Co. Ltd

(3) Mazag_on Dock Shipbuilders Limited

104.

(4)  General Dynamics Corporation

A German-based company, Pepper Motion is
set to invest ¥ 4,640 crores in its EV Bus and
Truck manufacturing unit in 800 acres at :

(1)
2)
3

Badvel, YSR Kadapa
Somandepalle Mandal, Anantapur

Aﬁchﬁtapuram, Visakhapatnam

(36)

102.

103.

fad 23Br JoHS @ooHS) (GBA)
9 P0G, 202385 G20 S Hodsyom
@80DoB0808. 1808 G20 TDHSs Brress
D BS a3 FrsoHS ©ochS) (GBAS
25 BTN ?

1. dorg
II. 208
1. #oirar
V. dad)
viSade -
VL. 237086

1, 1L TI1, IV 08050 V
ILTIL IV, V 58050 VI
I, III, IV, V 08080 VI

@®
@
@

(4 LILII, IV S8k VI

BB0S (520850 IS8 JTsB0s oSS
WAl JB B 82300
5000 :

)
@)

Foe304S Rord ) ROSLVD

B 2D DOoF Hoam IS
2020600 & dBs

(3) NS a8 ADLE) OBE

104,

It))

@) B35S BIWS) 5°8)8AS

aaégéé_ TodS KoY DNYB DS

& (EV) 250360 HO0H (&80 S

OrdSE DowoROD D (Frosod 800
ST’ T 4,640 FEY DEPDA L0 :

1) 2835, 3IVeB EB5H _

(2) RFDHOBHE 000, ©S50HBO

(4)  Punganur, Chittoor

ONBYS0, DT PO

- @)

DO S, DEFS
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105.

In which state was the law guaranteeing 75%

reservation for their local resi:_iénts in the
private sector struck down by the High Court
stating the law is unconstitutional ?

(1) Karnataka

(2) Haryana

106.

(8) Jharkhand

(4) Andhra Pradesh
Consider the following statements :

I.  The Global River Cities Alliance (GRCA)
led by National Mission for Clean Ganga

under the Ministry of Jal Shakti was|

launched at COP28 in New Delhi._

IL.

is a unique alliance covering 275+ global |

river cities in 11 countries.

III. The Global River Cities Alliance (GRCA}

is the first of its kind in the world,

Which of the above given statements is/are

correct ?

(1) IandIlonly

(2) Ionly

(3) IandIIonly

(4) 11 and IIf only

The Global River Cities Alliance (GRCA) :

(37)

BB FWIT) IV D oo

LSS BotioS’ 8 FRE dardeedy 75%

EY ool P wEyoLar

83006 7

th  Sgls -

2 oo

@)

106.

Flolele’

4) oPdHTT

& 808 (HELSOD HBKB0BOS |

L 2o 38 Hodss 7 egsss &S
forr JASS IS Jsys0S’
o8 855 SD ©ooHS) (GRCA)
COP28 8%y S0t  srsads’
@rdodotsabod.

Bd 858 28D ©ooHS) (GRCA)
OO 11 BFroS 275+ 1PD0Y &
S@ed  (global
ZeNHTANTD 2.8 DBEDS Srdd.

river cities)

Ao 8586 D woahS) (GRCA)
L;’as’so::socﬁ‘?é‘ SOBEESS.

DS 2D |DELIOS’ DO/ B ?

III.

h 1 X805 11 Sr(dD

2) 13D

(3) 108050 I Sesh

@ 11 00 I IS
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(38)

107. Which among the following is incorrectly|[107. & (808 &8S & SHir =6
paired ? TR0 ?

(D) S8 BED® : ad Sz8 HOAm

(1) Jagananna Chedodu : It provides a
financial assistance of ¥ 10,000 per
annum to Rajakas and Nayee Brahmins

for better livelihood. .

(2) Jagananna Thodu : It facilitates a
working capital loan up to 10,000 to
the eligible poor, small and petty
vendors with an intention to make them

financially independent.

(3) Jagananna Jeeva Kranthi Scheme : It
aims to empower and provide social
stability to women belonging to BC, Sb
and ST categories. The beneficiaries will |

receive sheep and goat units under this

[ @ ysR Navodsyan: Schama. 3 T simia b

provide self-employment opportunities
to the youth of Andhra Pradesh by

in the

creating job opportunities

(2)

(3

TOEIT IO DEAS BSSDro
oo  D0S$008 T 10,000 O
NFAHO OBBY0E.

28S) S OPNBS DS, IS,
SHoay DSy  TrHORH e
3508550 D YoroS G0 26
T 10,000 5550 PG J5ADo §0c‘6
Qe WOAN0H.

2003) &S (sro8 HPFo : BC, SC
L0050 ST STOH ToBS Sorsess
OGS HOAD ;Srs PEE D)
@0B0WN0 A ©F 0. & HG%o 8o
Yoo FBew HBcky Fosen

L

o&m‘o&g 0LNTO.
(0 330eb $SBovo 6% : wﬂ
- Sofoes && 5 BOITFTOR
NPRoTHS0 o so° SOlSIDTE
A HJONO GO @bs'a'o&’n
5O )y05¢0 & o s0.

\ transport sector.

108. The Centre of Excellence for Vegetables and
Spices under the Indo-Israel Agriculture
Project was proposed to he set up in:

108. R8-S o) 3§ Bo&s ‘@
0LE & IS5y 96 SaRens)
©08 VIV QO A& DoTHED DO
HBFO0SB00 :

(1) @d)00%s B

(1)
(2

Annamayya District

@) ©urd beohors: Ber

Alluri Sitharamaraju District

(3) der)th 3¢

(3) Palnadu District

4) Hotrd 2¢r

(4) Guntur District
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(39) [a]

109. Consider the following statements :

L

IL

Vijayawada Railway Station was
awarded the ‘Green Railway Station’
certification with the highest rating of
Platinum by Leadership in Energy and
Environmental Design (LEED), USA.

Vijayawada Railway Station is the first
in the South-Central Railway (SCR)
Zone to have bagged the Platinum ring.

Which among the above given statements

109. &3 808 |DH¥LIOD HBNeSosod :

I dzohard B85 IS8 HAbaD as
90 08 INjoSobS ABS
(LEED), USA oS0 @08 Jréso
BB3ohS’ AS B85 VAT HPDBIS
©oDos.

I &S§m-¢%s B8S (SCR) E8S' aredso

800 RentHdod) Jneses 3 VAS
D230DTEh.

is/are correct ? DS DY (HELSOES’ DB/ DTS ?
(1) Ionly 1) 13&$D

(2) TMonly (2) I3

3 IandII (3) 108080 II

(4) None of the above @) DIDSY

110.

Which among the following countries got
membership into BRICS bloc with effect from
1% January, 2024 ?

L

1L

IIL

Iv.

V.

(1)
(2)
3

Egypt
Argentina
Indonesia
Ethiopia
Saudi Arabia
I, Il and III
IL, IIT and V

LITand V

(4)

LIVandV

110. 2556 1, 2024 Sod DSy 2r§S° (BRICS
bloc) & (808 Brods D J5Es)
oTON ?

I &29

II. eBoesa
. w0&Inor
IV. RTr20
V. b aobdasr

(1 I I SH8ck I
(2) II, I H0akn V
(3 I, 1100wV

(4) ILIVOOanV
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{40)

111. Identify the imcorrect statement regarding
‘PM Vishwakarma Yojana’ Scheme :

L

11

(1)
2)

The Government of India launched the
‘PM Vishwakarma Yojana' Scheme to
provide end-to-end support to fishermen
with non-mechanized boats.

‘PM Vishwakarma Yojana’ Scheme
provides collateral free enterprise
development loan up to ¥ 6 lakhs in two
tranches.

I only
II only

(3)

Both I and II

112.

(4)

None of the above

Consider the following statements :

L

IL.

II1.

Dr. Tallavajhala ~Patanjali Sastri
was conferred with Sahitya Akademi
Award 2023 in Telugu Language for his
poetry and poetry collections.

D.K. Chaduvula Babu was conferred
with the Sahitya Akademi Bal Sahitya
Puraskar 2023 in Telugu Language for
his short stories ‘Vajrala Vaana’,

Johny Takkedasila was conferred with
the Sahitya Akademi Yuva Puraskar
2023 in Telugu Language for his book
‘Devara Kotishu’.

Which of the above given statements are

incorrect ?

(1) Iand ITonly
(2) II and III only
(3) IandIIlonly
(4)  All of the above

[A]

111. ‘DO DIEG Wras’ HPsRE Ho20H0D
85D 1555 HB00d :

L.

II.

a

(2)

TS-ETE S 08 as)
NS SHORN FJO PO drsdo
©0B0BEA8 28 (HEDS0 ‘DO
3 3882 S’ VPSR,
@r80do0s. '
Do DIEG Tras doso oo
oddHo%H Bok ESS T 6 ofe
SG% =EY THHow Ho&B| F
BI0V0E Hrezrensd @odN0A.

I S
IT So°(€533)

(3)

I 08w II ok

112,

4)

R 5%

S8 1508 (D50 HBKEIoOL

L

IL

II1.

@ ST J$02O) TR &S
D50 SO I Ho¥od
deriiosss  Benth A Joress
@SB el 20238 He9) 80T,

8.3, DY 220 & NN SGen
Slere oS § Senth AS Frireds
OB 2re) areds HOIG0 2023
& He800T%.

2 STSIOD S35 TS Y
IV Senth 1A’ rireds @95
A0S HEI, B0 20238 Heby, B0 .

23 BN (DELSOS’ DD 857D ?

(1) 108050 I Sriesadh
2) 11 o805 I Sy
@) 10005 LI (S0

(4)

3
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. 113. Identify the incorrect statements among the

following :

L

1L

I11.

(1)
(2)

{41)

Man Singh is the second Indian to win a
gold medal at the Asian Marathon
Championships.

Hardik Singh was named as Men’s FIH
Player of the Year at the International
Hockey Federation Hockey Stai' Awards
2023.

Indian women’s hockey captain Sushila
Chanu won the FIH ‘Best Goalkeeper of
the Year Award’ at the International
Hockey Federation Hockey Star Awards
2023.

Shubman Gill has béen selected as
‘Emerging Player of the Year at
International Cricket Council (ICC)
Awards 2023.

I and III only

II and III only

(3)

III and IV only

114.

4)

In which part of Andhra Pradesh is India’s
first largest private gold mine located ?

1

(2)

I and IV only

Krishnagiri Mandal of Kurnool District

Aspari Mandal of Kurnool District

(3)

Tuggali Mandal of Kurnool District )

(4)

Rudravaram Mandal of Kurnool District

113. & (808 o8 S

(BSOS

H8oB0sk :

o

111

1)

(2)

AP0 OA BAOST PSS TroDODS

DS’ DO HSE0 FOODS BOS

25350,

R00V)ASS & DABAS DS
58 F6 o) 20238° 05 ok
HHe oS Davd eH &
RQODEMT DODEASTCR.

8 Harer S8 TS DI T
R0OB)ASS H*8§ DABAS (ADDS)
58 ¥6 of) 20238° ‘BY A'S &56
e O ROHE’ @D Renchdvod.

©osTaH (838 TS  ICO)
oI@en 20238° HFHS AS ‘DQok
2OHG 6D & REHE' T JODEASTS.

I 58050 IT Sre(ehad
IT OB III S(bD

(3)

I 005 IV S |edad

114.

@

1 8080 IV S

EST50S'D BLHT0EE ©BDY (IS
20rd H GOPINBISR @ ([Frososs
Go&?

(1
(2)

S8 e 2 $yxfd Hodeo
S8 en B @350 Hoddeo

(3)

Gy en 8er éoﬁ,,é 00

(4)

&) e B BKSE0 oS0
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115. Consider the following statements about the
Indira Gandhi Prize for Peace, Disarmament
and Development for 2023 :

I Daniel Barenboim was announced as
winner of the Indira Gandhi Prize 2023
for his efforts to solve economic crisis and
his contribution in the development of
Sri Lanka.

Ali Abu Awwad was announced as winner

of the Indira Gandhi Prize 2023 for his

efforts towards a non-violent resolution of
the Israel-Palestine conflict.

IL

III. The International Jury of the Indira
Gandhi Prize for Peace, Disarmament
and Development for 2023 was chaired by
former  Chief Justice of India,
R.M. Lodha. ;

Which among the above given statements are
incorrect ?

(1) IandII only

(2) 1I and III onl

(8) IandIIl only

(4) None of the above

116. Which among the following rare natural
phenomenon is going to happen in 2024, after
221 years, in the United States of America ?
(1) Fire Tornadoes
(2) Glow Worm Caves
(3) New York’s Ice Volcano
(4) Double Cicada Explosion

117. Which among the following are incorrectly
paired with regard to Swachh Survekshan

Awards 2023 ?
I. Best SafaiMitra Suraksha Sheher
Prayagraj

IL
IIL.

Cleanest Ganga Town rank 2 : Varanasi
Cleanest Cantonment Board : Mhow
Cantonment Board -
All India Cleanest City rank 3 :
Mumbai

I and II only )

II and III only

III and IV only

Iv. Navi

(1)
(2
3

(42)

(4) landIVonly

[A]

115. 7708, QU oAESE HOAD eSHE §N0
0 TS 88 2aB) =odoe mwod
DIV} 2023 HO0D (1808 1DELSOD
HBHeorsok
L BA0HS 2rBSSonSHDd 208 Ty

ad¥ J082rR) D8HLB0BERE HOAD

2008 ©DSHOS BoHS TS S9N

T OBT® Mo 257006 2023 DBeSrr

(DESor.

JTDS-TOUT ITTRVE @O

$58ar 80 TR0 THS L908 mEr @d

©2) OB oAD" Tod DTV
2023 DB (HEBoTR.
F08, AT ONHESE HOOM eaé)é.)@
800 Eya TS 08 2T R0QO° rod
25008 2023 e90STBAD 237388 ordes
S (DS Fgohsrd ebdo. S
€9¢558 & Jr0iS0 28h08.
S AN (DELSOS’ D S, ?
(1) 150805 II Sr(esd -
(2) II805w III Srledad
[EEELSEGERD
4) DID Y
116. &@0s°S 221 JoSS 07w Sorged 202485
Jossy50 & 1808 TES' O OB
Dz BehsH0H0 2BRS T ?
1) B SEED
@ B >6;35) (Glow Worm Caves)
(8) &rg0srd) BB éoot;:n e DS LS50
[_{,4} BeNO NS DENTID
117. 050 D05 ) 2023 § o oam;oi) =
808 ¢3S° DD SH I ToHAAIV?
I &% JFovdied D88SE HDLo
DoSeRoeS

1. §39 torr H&0 T°508 2: FETD

ML HBHEDS  0&8'S085 P 33'5
5065°3085 S

V. 86 0805 §3D e o°5o8 3 1 5D

SOZ3

T 805 IT Srjebad

T 005 11T (e

HI SH8a%D IV S{edadd

1 508050 IV S5

IL

III.

(1)
2)
3)
(4)
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118. Consider the following statements with regard

to India Skills Report 2024 :

I Maharashtra, Uttar Pradesh and Kerala
are the top three states with the highest
availability of talent with computer
skills.

II. Karnataka is the most preferred state
to work for both male and female
employable talent.

Telangana has the highest concentration
of employable talent in the age group of
18 to 21 years.

Andhra Pradesh is one among the states
with the largest concentration of highly
employable resources.

Which of the above given statements
correct ?

(1) I,IIand IV only
(2) II,III and IV only

118
Iv.

are

{3 I IilandIVonly )

(4) All of the above

119. Pick out the odd pairs with fegard to newly
elected Presidents of that respective country :
I Fernando Pérez Molina : Guatemala
II.  Abdel Fattah El-Sisi : Egypt
III. Felix Tshisekedi : Democratic Republic

of the Congo

IV. Sierra Leone : Liberia
(1) IandIIonly
(2) II and 111 only
(3) IandIIIonly

| @ IandIVonly ]

120. Which is the first South Asian Nation to

formally register same sex marriage ?
(1) India

(2) Nepal

(3) Maldives
(4) Bhutan

(43)

118. & (808 o8S oA 35y 6P
2024 50 NOVOHODS [BSIAINISIN
2083050 :

I SoJyseb M8 A

(HB2rS0eHe e idFomr eotherns
&) B Sk TarS OB,
SGSEDTF HOD TEY &) oW,

I 8 DO (R ard TrEiDS

(DBrS0he JD TOHEVE edsoes
VRO O N0 ET°OE.

Boorns 18 HoD 21 ¥ eSS
JODDY) GY) GO IS
10327500 @S sHEOT Gar) .

@S iHE GG FSL e [FRAIN,
DAFSSHOD O &Sy o
S0(PDTT 2.888.

DS DTS, 1DELIOS’ D OB ?

118

(1) LI 5805 IV Sr(essh
(2) I, I 8050 IV Sr(essd
L3 I I OO0 IV Sr(edad )
4 DI
119. & (808 &8S’ Fér J0)F288 o T

IIL

oSINAS  Jo0HON JOSR  aSOD
800 :

I 2008 20E O : riRSre

II. &3S HE 6D : &2

2O8) DI : BIw(5¢38 85DE &D
sl

Ao OB~ : BDOK

I HOCW IT Srrledad

IT 25805 11T Sr(edad

1 S08a%w I Sr(esad

Iv.
(1
(2)
(3)

)

15005 IV Sresd )

120. 33001 D) ©HSOEOMT S TS

S05e8 B8 s B¥o O 7
(1) 25530

(e >0 )

ér%en
PAS NN

(3)
4)
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SECTION E
Mental Ability

121. Study the following arrangement carefully :
DE*9E$P#6+U0$H1A2D&#AS2QA3DS9ALM#
What should be in the place of question
mark (?) in the following sequence based on
the above arrangement ?

DE* 93P 60% A#A ?

(1) A%A

(2) AAL

(3) AS9

(4) ALA

122. Rajesh codes the alphabets as numbers such
as a:=1, b=2, ¢=3 and so on. Then what is the
value that Rajesh gets by adding all the
letters (according to the code given to that

letter) in the word

‘pneﬁzmqqqpltramicrgscopicsilioovolcanoconiosis’ ?

%A ':. H

(1) 524

(2) 536

(3) 548

(44 )

(4) 560

WEOE
ooerd D9S8

1121, & 1808 TN 2ESTT ed50H&S0

Sohodh :
DE*OE$P#6+U0$H1A2D&#AS2QA3DSIALM#

D 8008 esprdorr (§00 (508D 1HF) P8
HE () FS0S DD somd ?

DE* 9$P 608 A#A ?

(1) A9%A

(2) AAL

(8 AS9

4) ALA

022 SGSros’'d ©Fored a=1, b=2, c=3
DSBS woPgen &G T, ©9Y) %0

122,

‘pneumonoultramicroscopicsilicovolcanoconiosis’
OF HB0SV ©d) wiveod SBoddo
(& @508 20 §6 |H5°60) oo B
FOOS DeNd N0eH?

(1) 524

(2) 536

(8) 548

(4) 560
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Directions for question nos. 123 to 125

Study the given information and answer the
following questions :

YSR Kadapa team has to play cricket matches with
Visakhapatnam team as a part of ‘Aadudam
Andhra’ organized by the Government of Andhra
Pradesh. The number of players in each team must
be 5 only. Both the teams have to choose 5 players
from the eight players given below. The information
about the eight players, their role in the team and
the money to be paid for playing one match is as

(45)

follows :
Player Role Money to be
paid per Match
A Batsman Z 5,000
B Batsman ¥ 5,500
C Batsman/Part time < 6,600
Wicketkeeper

D Specialist Wicketkeeper ¥ 5,600
E Bowler (Spin) ¥ 5,000
F Bowler (Fast) Z 6,000
G | Bowler (Spin) ¥ 5,500
H Bowler (Fast) T 5,500

Conditions :

1. B and C cannot be selected together.
Wicketkeeper is a must in the team.

E and G cannot Be selected together.

B 9,

Among E, F, G and H, only two persons are to be
selected.

b

If A is selected, H must be selected.

6. There must be at least two batsmen and two
bowlers in the team.

7. C is considered as both a batsman and a
wicketkeeper.

(D¥) Sopg 128 SHod 125 SE5 Srddden

SIS DITOW) @SabS0 TR DBy &
(508 [5%) @80 DaTRO RS$08 :

SOPHNTF  1DHDB0  ABsrNN)  ‘@ehTro
S0|'S’ 2rlorr BANE §60 26Y ITPHE)0
28S 1838 SrsSen amd) &od. (D 2EPSTD
SOTY Jops SIHIANBT 5 Sredd dowd.
808 255285 AW H0d sLrYS Boch
B 5 HOB sLOTED oD, & (80
HBES’ QAN H0B LT, 8PS’ B (e
000 2.8 SrgsS eBSotB Towrdyd tan)
0800 Sdrerdo &od.

2.8 oS
ST xS &BS0cH%
ZD0iE))eS
adan,)
A ajoseﬁ NS Z 5,000
B 257285 357 T 5,500
C PO NN NS o) ¥ 6,500
DD DBEEHE
D )00 D8ESEHE ¥ 5,500
E 506 (2935) % 5,000
F T0b (D) T 6,000
G 5706 (0)) T 5,500
H 2578 (3{8) Z 5,500
aadeen :
1. B 00 C o 30 02§ Toheso
PRS0 5°CN.

' eSS’ DBSENBS$HIAN8M Gomd.

E DHOM G o 50D J0DHE Tohdso

D30 5.

E, F, G 00 HodS addH Siven

ST OV Tohaaserd.

5. A Q0DE ToHAAS, H D &D)A00M oD
BET.

6. 2P 5DI0 APBH 25 HIArS  SHOAK
QS FTod aomd.

7. CQe>S)SrS 80w DBETENET
HoNBod.
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123.

YSR Kadapa team decides to compose the
team with one fast bowler and one spinner
and has a budget of only ¥ 26,500 to form a
team. Then who among the following is not a
member of that team satisfying all the

conditions ?

1 A
(2)

3)

E
H
4) G

124.

125.

If it is known that the stadium is favourable to
spin bowling and YSR Kadapa team decided to
select C and G compulsorily in the team, then
what is the total amount spent by the team on

selected players satisfying all the conditions ?
(1) ¥ 27,000 '

(2) ¥27,500

(3) T 28,000

(4) T 28,500

If it is known that the stadium is favourable to
fast bowling and YSR Kadapa team decided to
compose the team with two fast bowlers, then
what would be the least amount that can be
spent to form a team satisfying all the
conditions ?

(1) ¥ 26,600

(2) T 27,000

(3) ¥ 27,500

(4) ¥ 28,000

(46 )

123.

..

SIS 8D 2L 28 IR T8 DB
28 YNBSS 2P domytw Tored
QAFONOTLFOS HOKD 2P TN
DOHETNE BS00 T 26,500 2FES S

GOd. @) &) AGHOD
DOSINDBDS THH® & (808 F8S° A5
& 290506 DI 5°¢H ?

1 A

2 E

3 H

@ G

125,

. DS FOoRE VA0 DHEFOH SOV

BIVeSE 585 8 C HB G D
SN0 0DE TOred AFowoDos,
BOYIH® ©d) ABHOD S00IBH JoDE
TS sOrgH 28 &) TS Indo
20 ? -

(1
(2)

< 27,000
¥ 217,500

(3) < 28,000

(4) ¥ 28,500

VA0 PR T OORK DETOOMT HOSD
8O BINSE ¥AD 2 P TR
ol  zpd oty Tarod
APONON0H, @HYD ) AdHOD
DOSIVHBD 2P Dovyew  ToHads
) TODHKL 50y B0 DO ?

(1) T 26,500

(2) T 27,000

(3) ¥ 27,500

(4) T 28,000
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126.

127.

s

Read the following ins’tructians .
A$D means ‘A is to the North of D’
A&D means ‘A is to the East of D;
A*D means ‘D is to the West of A’
A%D means ‘D is to the South of A’
A@DR means ‘A stands exactly in the middle
of the horizontal line of DR’ .

A!DR means ‘A stands exactly in the middle of
the vertical line of DR’

It should be noted that ‘A6m$D’ means ‘A is 6

meters to the north of D’ and so on.

Find the shortest distance between S and T in‘

the following expression :

‘B12m$S5m*RIM&IEmEKIIT
1) 413 m
2 1023m
(3) 2V13 m
@ 313 m

Ramana was born on 29 February, 2016
which happened to be a Monday. If he lives
till 2099, how many birthdays would he
celebrate on a Monday ?

H 2

(2} -t

(3) 4

“4 3

(47)
 A$D @0t ‘A 38 DE &S G0
| A&D &0t ‘A @R D 8§ Srh)S G0l

&3 1808 SrtddeIed 9508 :

A*D @0 D &TO A § DI ol

A%D ®0% ‘D o3IO A 8 S8 S Gody

A@DR ®0® ‘A pA)Sor DR T
JSrosS By SHeSseS Gotnody

AIDR @0%) ‘A D)0 DR B densd
B S Goenody’

‘A6m$D’ @0t ‘A FS D8 &S0 6 e
Ard0 & o0&’ ©d o TR >d.

& 800 $5888008° S HBAD T Hdds @

1217.

503 o) SRRSO :
‘B12m$S5m*RIM&I6m%K!IIT
M 413 &

| (2) 1023
@ 213 %
4 313 &

Se0e DX 29, 20168 V0T, ©b
FHTE0. S 2009 6% #0D GO,
s P60 T ) HPSTaren
2B0B00e ?

() 2

2 7
3) 4

4) 3
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128.

The speeds of Rohit and Lalith are 30 km/h
and 40 km/h. Initially, Lalith is at place X and
Rohit is at place Y. The distance between X
and Y is 650 kms, Rohit started his journey
3 hours earlier than Lalith to meet him. If
they both meet each other at a place Z
somewhere between X and Y and the distance
between Y and Z is P, then what is the value
of P+27?

(1) 330
@ 125
(@ 220

(4) 165

129.

If in a certain code language ‘CONSERVE’ is
written as ‘BDNPMORTDFQSUWDEF’, then
how will NUMEROUS' be written in that
code ?

(1) MOTVLNEFQSNPTVRT
(2) MOTVLNFFQSOPTVRT

(3) MOTVLNDFQSNPTVRT

130.

(4) MOTVLKDFQSNPTVRT

R and S are friends. R lives in USA and S lives
in India. One day R asked S that ‘if the time
now in USA is T hours, then what is the time
now in India’ and S replied that ‘India is 9
hours 30 minutes ahead of USA’. Then what
time will it be 18 hours from now in India, if in
the USA it is 4:15 AM ?

(1) 1:45 in the afternoon
(2) T7:45 in the evening
(8)  1:45 the next morning

(4) 7:45 the next morning

sl

{48 )

128,

Ford 60w 0O o Kot 30 8
SOk 40 8/ (oo ©OSE X
TS0 805w TS Y 30 aar)&. X
S0 Y Sddg &rdo 650 8. 28055
EoSm8 0S8 0t 3 KoLe INOTE
Ors &3 |PASreE) (rdodowrd. X
OO Y s &) Z peos’ P
250586 EennBoo® Y S8 Z $iess
&350 P eoond, e3¢5 P + 2 Densd 0 ?
@ 330 .

@2 125

(3) 220

(4) 165

129.

130.

28 0 6 o0 ‘CONSERVE'D
‘BDNPMORTDFQSUWDF @@Q |,
o8 §6 zr0& ‘NUMEROUS oer
(oo ?

(1) MOTVLNEFQSNPTVRT

(2) MOTVLNFFQSOPTVRT

(3) MOTVLNDFQSNPTVRT
(4) MOTVLKDFQSNPIVRT

R SH80 S 2P Dsreven. R USAS
200 S rosdios’  JSVWTHE.
2882 R S ‘USAS’ 2330 B0 T Kotren
6 R0AKS' BHIH WO o e
ST, 2résTso USA Eod 9 fode 30
AT SVOKOS & S N0
2T ). USAS' &S00 4:15 @00, 25)¢3
$oh 18 Hotve SHTes rdsdiods
NDONO DOES ?

(1)  gger)o 1:45

(2) radolgso T:45

@) HBHE edoho 1:45

(4) BN &SANO T:45
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131. In the month of January, the students of
Chaitanya Bharathi Public School visited
M/s Swaminathan Farm, where they saw
rabbits and pigeons. One student started |
counting. If the heads are cmmted there are
340 heads and if legs are counted there are

1060 legs. He also observed that 3 pigeons (out|

of the total pigeons present there) were dead,
Then how many live plgeons are there on that
fdrm ? '

{1 177
(2) 167

3 167

4 147

The sum of the present ages of Ramu and his

182,
son Jagadeesh is 60 years. Six years ago,
Ramu's age was five times the age of|
Jagadeesh. After 6 years, Jagadeesh’s age will
be :
(1) 12 years
(2) 14 years
(3) 16 years
(4) 20 years

133, If 2X4X6X8X10X12X14X16X18—18579XYZO
whatisthevalueofX+Y+Z‘?
(D 12
2 13
(3) 14

(40 15

(49)

|

-'13;. BISB ToS Jdy rdd HD§ IS

ATPED Ms  FIDTHS PO D
- D0B00T, ¥ 7S $08¢0) HBOS
L DHTOH ST, 28 I8 e
. K080y B FITe S, $0)
880560 (0D Seren BED 340
Seoen, 5P BEHDAS 1060 T ST 0N
HB0Trd. @SS 3 FHToen (©EG &)
wdo FIoY) AV Sra
BONOTTE. @I & FEHS" IV HEH
YT G QN ? '
(1)
@)
- A3
(ﬂ. . s
132, 00 DO @S HdrdHd bR
(DS SADYO  BBo 60 HoSS Yo ew.
8% 80 Tadn SoHD AR SoHD
E0T) ¢ BEY DF0YS. 6 00SS YT SO 565
2HED S0HK) A0S HOENOB :

(1
(2)
(3
4

17
167
157

12 J0Se8 yoven
14 505 o en

16 c‘{ionﬁe‘égcr'm

20 Q05e530°eN

133. 2X4X6X8X10X12X14X16X18=18579XYZ0
@ONSB X + Y + Z Densd oeh ?
(1)
@
(3)
(4)

12
13
14

15
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Directions for _q_ugstidn nos. 134 and 135:

Study the given information and answer the
following questions :

On the occasion of ;uweiling of Statue of Social DEAW (5 O VIR0 25 08

Justice, the Government of Andhra Pradesh had set Q’&l}’ s wd PN 22D @3:&& 800

_up exhibition and stalls at PWD grounds,

Vijayawada. Raghu went to the exhibition to visit
8 stalls, Stall-1, Stall-2, Stall-3, Stall-4, Stall-5,
Stall-6, Stall-7, Stall-8, but not necessarily in the
same order. He started from Stall-1 and walked
towards Stall-3 which is at distance of 24 m towards
East. He then turned left and walked 16 m to reach
Stall-5. Then he walked 57 m Southwest to visit
Stall-2, which is towards the South of Stall-1,
crossing the path which goes through the midpoint
of the line joining Stall-1 and Stall-3. After visiting

Stall-2, he walked 40 m in the East direction and

reached Stall-7. He then walked 50 m left to reach
Stall-8 and then 16 m right to reach Stall-4 and to
reach the last stall, he walked 35 m towards the
right.

184. What is the shortest distance between Stall-3

and Stall-6 ?

1) 6/87m
2 489 m
3 477 m
4 824 m

135. What is the direction of Stall-1 with respect to
Stall-2 and the shortest distance between
them ?

(1) North-East, 7V10 m
(2) North-West, 7 V10 m ;
(3) North, 35m

(4) North, 39 m

|8 Soms 131 Sbotw 1358 WHre%

Bresesen :
& (08 RIS SLToW) ANSo T

HOBBIOT SOIBIDET (DED$50 BCHFRS'D
DB 1T08)S JDAS DO F'S
DO TROA. S 8 FOOD HOBB0BERE
MNDASH IT- FS-1, FS-2, FS-3, FS-4,
TS5 FS-6, FS7 TS, 50 o8 Ehod
D058 0BT, ©SD FS-1 Hod rEodod
Srdd) B 24 Dy &rsos’ &) TS-3 DY
SATW. @58 HoB AR SO0 162
JSAD FS-58 THOHTYW. @58 Dobd ©éD
TS-1 SO FS-3 50D By HGS' &Sy
SrTR) o8 FS-18 Sfwor &8 FS-20
HOBBBETAE THA BIS 57D A,
T2 HDOBBDS STy Srd) OIS
40068 SAD F*S-78 Thrdoar) . @5 A Hod
@58 aS-88 BHFIEOE BTy 500 SAD,
@D TO-48 THFIETNE 583 162 SATR
HOAN D8 FSE THTITVE @A Hod

| 5083 3550 SATrc.
1134, §S-3 DO FS6 NPy ©8 SERS
&S0 oes ?
@ 6V87 &
(2 4789
@ 47T D
@ 8J24%

|135. r6.28 SowotoDd FE1 D BIS wod

- 8050 a¢3 Hrgds e SKS S0 o ?
(1) &S50, V10 & gl '
(2) oS80, TV10
(3) &S50, 35
@) &30, 39 D
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136. If AB x DED = AB AB,

AB x DEDED = AB AB AB,

ABC x DEED = ABC ABC, and

DED + DEDED + DEED = DDFEG,

where A, B, C, D, E, F and G are different
digits, what is the value of Fx G ?

(1) '
(2)

3)

137.

o O = 0

4)

Suneetha is working as a Deputy Collector
and gets a monthly salary of ¥ 74,000. She
used to spend it on three heads : i.e., Personal
and family expenses (P), Medical (M) and
Charity (C) and rest were her savings. P was
70% of her salary, M was 20% of P and C was
15% of M. When she gets a salary hike, her
salary is 60% higher than in the past. She
maintained the same percentage of P, but M
became 25% of P and C became 20% of M. The
difference between the two savings is :

(1) <284

(2) T 370

138.

(3) T424
4) T474

Vijay invested a sum of T 8,192 at 15% per
annum in State Bank of India. What is the
compound interest for the sum invested by

Vijay for 1%; years, if interest is compounded

5 monthly ?

(1) 1,740
(2) T1,735
(8) T1,640

{ @

T 1,634

(51)

136.

AB x DED = AB AB,

AB x DEDED = AB AB AB,

ABC x DEED = ABC ABC, <5805

DED + DEDED + DEED = DDFEG,

A B, C D, E, F DO G 3055 @08en
0N, F x G e Do ?

@y 2

(2)

137.

4
(3) 6 )
4) 8

NS Al EBEET  HATBYTYH
S00 Joard 2o T 74,000. & T
S DPS” ) BYoB : Ss8ies
0Ck Hotnoa pddyen (P), 850 (M),
7888 (C) HBAD WADS JInvdo e
Y. P eD 280’ 70%, M TwEy i)
PS* 20% 585 C TwE), %) MS* 15%.
8 BS0 VO FoAHINIWD, s Héo
50 0% 60% DOROH, e P BwE) &)
o8 TER) TSTA0N0D, SO M T,
%) PSS’ 25% HBA5D C Ty i) M &°
20% @O, DO NI NS S4esd0
20eh

(1) <284

(2) T 370

138.

(3) T424
(4) T 474

D20H DS w0 eDH  R0dTS
N0ISITVE 15% T T 8,192 P2
VR, DD 5 SO @ 0D HPaS

1% JodS oo Fén  dAD YL
DEPDAE BEIG does ?

(1) ¥1,740

@ T1,735

(3) T 1,640

@

T 1,634 ]
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139. Some equations are solved on the basis of a
certain rule. Following the same rule find out
the missing number (?) :

2[413=14,4[615=32,5[716=44,6(8] 7="?
(1) 50
(2) b4
[ ® 58 ]
(4) 60

140. Arun finds the letters to be placed in the place
of ¥ and ' in the "ﬁgure given and by
combining and arranging those four letters in
the figure given, he finds the name of a

139. ) ONESeren AR oo erdomr
HBABoBREETAD. ©F oD
©DXB0D (DAEE () TSR Josd
ERN0A
2[4]13=14,4[615=32,5(716=44,6[8]7="?
(1) 50
(2) 54

Ce s )

140. & (800 DS FISR 2 HBos» T
T30S doEd)d oIvodH e
E0F)C DO 2a0)S & Tend
©500 SONB0 DA  @HBYG%0
o 30 e 2.8 Bio Ty & thGowrch.

country. The Capital city of that country is : e 5% Bk BT 96 ?
9 3 74 4 9 5 7 4
3 2 B
7 Uj ? 5 7 U ? 5
2 E ! 6
1 2 9 3 1 2 9 3
(1) Quito 1 8§38
(2) er ¥
(2)  LaP
) - = | 3) O I
(8) Lima @ 8‘5_:563‘

141.

(4) Georgetown

Sjva defines a number as ‘connected with 9 if
it is divisible by 9, or if the sum of its digits is
9, or if 9 is one of the digits of the number, and
other numbers are all ‘not connected with 9.
As per his definition, the number of integers
from 1 to 90 (both included) which are not
connected with 9 is :

141. D Hops ©ond 9 orsor rAotatsos
o & JopiS’ ©ose Inbo 9 ©HH0E
Sor 9 8 Do’ 2.8 @0 oS ENS0ed
dopsen 98 @NN0FTROBRASID
DB  AOS  Dopgeny ©J) 98
DTN DAID % @D  BS
ABIDOTTRD. S ABIBI0 D560
1 0B 90 (1 HOAL 90 Boksyr §enSR)
SEH 98 HVOTIOBVED FFOSO

(1) 45 HoPS O :
(2) 63 (1) 456 !
2) 63
3 2
- J Co 72 )
4) 81

(4) &l



GS/2G/200

142, Read the following instructions :
A3B means ‘A is the Mother of B’
A11B means ‘A is the Brother of B’
A9B means ‘A is the Father of B’
A12B means ‘A is the Sister of B’
Which of the following expressions means that
P is the maternal uncle of Q ?
(1) QI1IN3M12P
(2) P3S12N11Q
{ ® P11M3N12Q

(4) Q11S9P

)

143. Find out the odd one in the following series :
2, 4, 7, 11'5, 1825, 28-375, 42:5625
1) 115
2y 1
(3) 28375
(4) 426625

| )

144. Priyanka brought 20 plates and 12 teacups.
She marked up the plates by 15% on the cost
price of each and the teacups by ¥ 20 on the
cost price of each. She sold 75% of the plates
and 8 teacups and made a profit of ¥ 385. If
the cost of a teacup is 60% the cost of a plate
and she got no returns on unsold items, what
was her overall profit or loss ?

(1) Lossof T 210
(2) Lossof ¥ 250
(3) of ¥ 355
(4) lossol<dp

145. Mahesh and Krishna are engaged to do a
work. Mahesh working alone takes 8 hours
more to complete the job than if both worked
together. If Krishna worked alone, he would

need 4-;- hours more to complete the job than

if they both worked together. How much time
would they both take to do the work together ?

(1) 74 hours

(2) 5 hours

(3) 53 hours
{l @ 6hours

(63)

142. &: (808 Artdederedd £5¢55068
A3B &5 ‘A @0 B 33ng), $&
A11B &35 ‘A 0% B G3E), FEEEY
A9B e ‘A @0 B B, ol
A12B &S ‘A @0 B G308y S8’
P ©D® Q g Dssrdr 8od

35886806 DB W06 ?
(1) Ql1N3Mi1i2P
(2) P3S12N11
1
P

143. & (808 SBHIS' SHIT &S) Do
800 : _
2, 4, 7, 11'5, 1825, 28-375, 42:5625
1 115 : :
2 7
(3) 283756

(@ 425625 )

144. (DASrOY 20 EW HBA® 12 85 0

SDY08. & 2.8 S BS C.P. (Fdffen

$0) S0 15% 505 Sdatw 2.8%5 635d)

@6 CP. (Soffen ) S0 T 20 50y

(D5B0N0B. & T5% Y HO0®

8 S8y JFawod T 385 ererd)

sQoD0od. 2.8 85H) &6 28 VS PBKHS’

60% S|P, OV JEONOID SNIHOD

S derodd Tad UEYSE, e Sweo

0 B RO DO ?

(1) T 210380

(2) ¥ 2508500

(8) ¥ 355 de20

4) T 475 30

145. R HOAD FyR 28 HD Tavsos
QAND GI®. QK EOD DIATIS
oRE0T Jara 58 H Tohas 8
HO&YeN DHYS HOA. Kyam 2,008 H
TR, AQEr O HATHS TREEH HID

8 THaE eS8 47 fowen I

£, ARG DD H) ToHETVE doe
B0 BLDE0EFSS ?

(1) 7-4 So&ren

(2) 5todden

3) 5'38o&en
(4) 6 fotyen
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146.

Find the number of triangles and squares in the
following figure :

AN
N4

(1) 21 Triangles and 8 Squares
(2) 20 Triangles and 8 Squares

(3) 22 Triangles and 7 Squares

(4) 21 Triangles and 7 Squares

147,

148.

The question below consists of a problem figure

and is followed by four answer figures (1), (2), (3)|

and (4).
Select the correct answer figure that is
embedded in the question figure.

Question figurg™ ) E :
R << X

(1) (2) (3 (4)

Choose the correct mirror image for the given

figure among the four alternatives (1), (2), (3)

and (4). The mirror is represented by a line AB.
nswer yjures

PV ¥ ¥

(1) (2) (3) 4)

Answer figures

Question figure

A

A mrerreremerrerr B

(54)

146.

& (8os Do | Bberen SO
GRS HOPLD DD

"
N

(1) 21 (820D SHO0D 8 theddd(Rren
(2) 20 (8202ren SHOAW 8 LIeHSRreD
(3) 22 (8202ren SHOAW 7 HSedS|Rren

(4) 21 (83202 e DO 7 IS en

147.

148,

& OIS 28 (%) VS0 DO wreniDd
NPT DO (1), (2), (3) SO (4)
5O0 &5 0.

DE) S0 FoHHBDS IBS Baren
5D DOHTOM.

(D% D

X

& O3 (DY) SV Teuth DTy diren (1),
@), (3) SHBA® 4) S ADYS ::)Léo'amsz,
DB (DDA JohEod. @Fo AB BS
° $0° D0 0H.
NS A
A

|E 3 ki

(1) (2)

RArgrs OEren

Mi<lx

(1) (2) (3) (4)

19¥) Do DiEen

3)

v

(4)
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149.

150.

s = A B

Statement : Two indﬁstrialists, Shyam and
Manoj, have industries right next to each
other. They have been working hard for their
industries’ development and both of them
manufacture the same product. Both spend
equal amount of time, use the same materials
and are equally hardworking. During the sales
period, Shyam had better product sale in
comparison to Manoj’s product.

Conclusion I :

The quality of material used by Manoj was not
good.

Conclusion II :

Power cuts ruined the quality of Manoj’s
product.

(1) Only conclusion I follows
(2) Only conclusion II follows
(8) Both conclusions I and II follow

(4) Neither conclusion I nor II follows

Statement : The civic authority has decided
that all the factories located inside the city
limits be shifted outside to reduce the level of
environmental pollution in the city.

Assumption I :

The pollution level in the city in future may
reduce after these factories are shifted outside
the city limits.

Assumption II :

Enough usable land is available outside the
city limit for these factories.

Assumption III :

Many of these factories may shift to some
other smaller towns to remain profitable.

(1)  Only I is implicit

(2) OnlyI and II are implicit

(3) Only II is implicit
(4) Only II and III are implicit

(65)

149, 1556

- 3D DOFEHO 0DSH@

i

XL O FTWEISen, TN
B0 DS 2POE HE; HET 25D
SOHFD HTEEY HoFhen GTm)ow. T
§o0 DA
JATRTYH BN VRE>® 2.8 &ed)eD
SO TYD. FYE® JIrS DOATR),
IV, 28 ITTOSH  GHTrOVH
0D DKo EADE I TS,
JFASTre 50, HSE G BE 5O,
T OIS @58 JESrod O
G ch.

OFoel :

DSZE GHJFACDS e30HS  wreaged
2> BE. '

DT II :

DXB EeSen DS dred ) areagededd TS0
TFAw. '

1) I3 ©HIBN0O
2) ISP ©HI8N0H
(3) ID8aiw I e Bodsr @HH8R 00

@) 18I e 080t

150. [HEDS : SHG0ES HOsS8E SN0 FOVD

SNOToHB SHS  HBAS' &Sy ©@d)
Sourocod SEGo 2050838 $S8HoTO
D6 ©5H5°E 0DOo(E0N0 AYANOOR.
el :

& ZoUrTro S8 ST IendO
SED0NS STt FIABS' K0S’
SeNNS FTOW ST,

&Il :

& Sourore 0 SHG SO JendHe
S50 LM ©okerend’ &08.

&Il -

BT oHEOT GO%ErdE & oo
Trer G50 WSS D) YT OZ BTN,

1) 15085 @S85S

2) 1000 I S OS5
(3) 1II @olfS
4) T 5605 I SHS D o35dd
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SPACE FOR ROUGH WORK



